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X2 +ax+ab+bx = (x? +ax)+ (ab+bx)
=x(x+a)+Db(a+x)
=(a+x)x+b)
(Wls3> 17
(@+b+c)®—(@®+b*+c®) =[(a+b)+cf —(a® +b*+c?)
- [(a+b)3 +3(a+b)c+3(a+b)? +c3]—a3 -b*-c®
= [(a3 +3a% +3ab’ +b° )+ 3(a® + 2ab+ b2 c + 3ac? + 3b¢? + 03]— a’-b’-c°
=a’ +3a’b+3ab® + b* + 3a’c + 6abc+ 3b%*c + 3ac® +3bc® +¢* —a’ —-b® —c®
=3a’b +3b%*a+3a’c +3b’c + 3c®a + 3c’b + 6abc
= 3(a’b +a’c + b?a+b’c + c%a+c’b + 2bc)
—3|(a% +b%a +abc+b?c)—(a%c +ac® +bc? + abc))
= 3]b(a® + ab+ac+bc)+ c(a? + ab+ac+be)|
—3(a’ +ab+ac+bc)b+c)
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=3[a(a+b)+c(a+b)ja+c)
=3(a+b)a+c)b+c)
(Vls> 18

a+b=(b+c)+(a-c)

ab(a+b)-bc(b+c)+ac(a—c)=abl(b+c)+(a—c)]-bc (b+c)+ac(a—c)
—ab(b+c)+ab (a—c)-be(b+c)+ac(a—c)
=(b+c)ab—bc)+(a—c)ab+ac)
=(b+ch(a-c)+(a-clalb+c)

=(b+c)a-c)a+h)

(g3 19
Ax* —4x*y? +y* —4Axtyt = (4x4 —4x%y® + y“)—4x“y4
— (2X2 _ y2)2 _4X4y4
= (2x2 —y? —2x2y2X2x2 —y?+ 2x2y2)
(wlg> 20

yla-x)-x(a-y)+a’(x-y)=ay’ —xy’ —ax’ + yx* + a’x - a’y
:(ays—ax3)+(— y3x+yx3) ( a3y+a3x)

aly’ ) - yly* - x*)-a*(y - %)

= [aly —x)(y? +y><+xy)] yx(y = x)(y + x) - a*(y - )

= (y - xflaly? + x* + xy) - yx(y + x)-

(y—x)(ay +ax® +axy — y’x — yx a)

(@ls3 21
2X 4+ X A X+ 2=2x" X+ 2% 4+ 2% + X + 2
= (2x* + %%+ 2x)+ (20 + x + 2)
x2(2x2 + X+ 2)+ (2x2 + X+ 2)
= (2x2 + X+ 2)(x2 +1)
(Vlss 22

X5+ X4+ X%+ X+ 1= (X x4 )+ (X2 + x2)+ (x +1)
= x*(x+1)+ x*(x+1)+ (x +1)
= x+1)(x4 +x° +1)

(x+D)[(x* +2x° +1)- x*]

(c+ 1) +2f -]
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= (Xx+1) +x+1)x2 —x+1)

(Vg 23
X2y + xy® + X°z + xz® + y*z + yz° + 3xyz
= (x2y +xy° + xyz)+ (xzz +x2% + xyz)+ (yzz +yz® + xyz)
=xy (x+y+2)+2x (x+y+2)+yz (x+y+2)
=(x+y+z)xy + yz + 2x)
(Vs> 24
X2 +6x+9=(x)* +2(x)x3+(3)°
= (x+3)
(@ls3 25
25a% —30ab -+ 9b? = (5a) — 2(5a)3b)+ (3b)
=(5a—30)’
(@ls3> 26
4x% +12xy +9y? = (2x)* +2(2x)3y)+ (3y)?
=(2x+3y)’
(lss 27
2X—X? —1= —(x2 —2x+1)
= —(x -1y
(@ls> 28
9a® +12ab+4b® = (3a)’ + 2(3a)(2b)+ (2b)’
=(3a+2b)
(ls3 29
(a—b) +2(b-a)+1=(a-b) - (a b)+1
- [a-by ~2(a-b))+ 0]
=[(a-b)-1f
=(a-b-1y
(s 30

a®+6a‘ +9=(a*) +2(a*)x(3)+(3)
= (a“ + 3)2
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(@ls3 31
5b* +10b% +5=5(p* +2b% +1)
- 5i(b2 J+2(b? 1)+ (1)2]
=5(p? +1f
(lss 32
a® —32a* + 256 = ((a*)? — 2(a* |16)+ (16)’)
—(a*-16f
(@ls> 33
8X° +8x+2= 2(4x2 +4x +1)
=2(2x+1)
(@ls> 34
20x? —100x +125 = 5(4x? + —20x + 25)
=5(2x - 5)°
(wlg> 35

a® -b° = (a3 —~ b3Xa3 + b3)
= (a—b)a+b)a® +ab+b?)a> —ab+b?)
a'+b* = (a2 +b? )2 — 2a’h?
a®+a*+a%*+b*-b°
(a—b)a +b)a® +ab+b?)a? —ab+b?)+ (a2 +b? )2 — 2a’b? + a’b?
(a—b)a+b)a® +ab+b?)a2 —ab+b?)+ (a® + b + ab)a® + b* — ab)
a” +b? + ab)a® + b? — ab)(a—b)a +b) +1]
a’ +b® + abXa2 +b* - abXa2 - b° +1)

v Yoy

(s> 36
X2 —4=(x-2)x+2)
(Pls> 37
4a® —9b? =(2a)* —(3b)*
=(2a—3b)2a+3b)
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(@ls> 38
x* 16 = (x2 ) —(4Y
= (x2 —4Xx2 + 4)
= (x—2)x+2)x* +4)
(ls 39
(2a+b J —25=(2a+b)* —(5)
=[(2a+b)-5](2a+b)+5]
(2a+b-5)2a+b+5)
(wls> 40
1-(2x - 3f =@} - (2x - 3y’]
=[1-(@x-3)J1+ (2x-3)]
=(-2x+4)2x-2)
=2(-x+2)2(x -1)
42 - x)x-1)
(s 41
(4x +3)F —(3x —1) =[(4x +3)— (4x —1)](4x + 3)+ (3x - 1)]
= (x+4)Y7x+2)
(Pls3 42
16x* —625 = (4x? | —(25)?
= (4x> - 25)4x? + 25)
= (2x—5)2x+5)4x? + 25)
(@ls> 43
121a°x — 49ax® = ax(121a® — 49x°)
= ax[(lla)2 - (7x)2]
= ax(l1a—7x)11a+7x)
(s> 44
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(-]
x — 17 ][(x + 27 + (x-17]

><
+
=
N~
N
—
|

(x+1)" — (x - 1)°

>
_I_
RN
N —
N
|
—~

>
+
=
+
—_
><

X2 +1)

—~~
N
—
N
>
+ ~~
= X
—_— N
—

oo
=
>
N

3x° —48xy* =3x(x* —16y*)
:3x(x2 —4yXx2 +4y2)
=3x(x—2y)(x+2y)(x2 +4y2)

2y_b2)_(a2y_a2)
“(y-1)-a*(y-1)
Ey—l)(b2 ~a?)

y—1)b-a)b+a)

b’y —b*-a’y+a

N
o =

(4x -9y ) 2x —3y)
[(2x - 3yX2X4-3yﬂ (2x-3y)
(2x - 3y)[(2x + 3y) + 1]
(2x - 3y)2x +3y +1)

4x* +2x —9y° -3y

x* +10y —y* - 25 = x* —(y2 ~10y + 25)
=x* ~(y~-5f
x=(y=5)lx+(y-5)

(x—y+5)x+y-5)

—_
>

3)—(x2 —2X +1)
x—1)—(x-1)
(x-2pe — (x-1]
(x-1)x* —x-1)

Xt =x3—x*+2x-1

|
>

—~ e

3

n 1 Il
>

~[(x+ D)+ (x—2)f2 1]

(@ls> 45

(©ls> 46

(Pls> 47

(@ls> 48

(@ls> 49

(ls> 50



(a2 + b - 4a%? = [(az +b?f - (Zab)z]
= [(a2 +b? - 2ab)] [(a2 +b* + 2ab)]
(a-b(a+bY

1—4x% — y2 —4xy =1—|4x2 + dxy + yz)

- [lox + 22x)Ky)+ (v
~(2x+yy

- [(1)2 —(2x+ y)z]

_ [1—(2x+ y) ][1+(2X+ y) ]
(1—2x—-y)1+2x+y)

1
1

3x? —27y? =3(x* ~9y?)
= 3(x—3y)(x+3y)

ax* —4=4x* -1)
= 4(x2 —1XX2 +1)
= 4(x* 1) x +1)(x* +1)

X' -y’ —2x+1= (X2 —2X+1)_ y’
=(x-1f —y®
= [(x 1) - y][(x-1)+ ]

=(x-y-1fx+y-1)

Xz_y2+2y_1:X2_(y2—2y+l)
=x"—(y-1)

=[x =(y =)][x +(y 1)

=(x-y+D(x+y-1

Oy $93 L0 22

(Ply3 51

(Pls3 52

(ls> 53

(Pls3 54

(s> 55

(Pls3 56
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(@ls3> 57
(a b— abz) (b ¢ —bc? )+ ac(c - a)
’b — bc? )+( ab’ +b c)+ ac(c —a)

(
b( ) )—ac(a—c)
b(a

—c)a+ c) b2 —ac(a-c)

ab(a —b)+bc(b —c)+ac(c

1 1 1 e | | | |

(a- c[b (a+c)- bz—ac]
(a- c)(ba+bc—b2—ac)
(a— c)[(ba b)+(bc—ac)]
(a—c)b(a~b)-c (a-b)]
(a—c)a-b)b—c)
(a-c)a—-b)b-c)
(@ls> 58
x?’(x2 - 7)2 —36x = xs(x4 ~14x% + 49)— 36X
= x" —14x° + 49x° — 36x
= x (x* —14x* + 49x* — 36)
= x|(x® ~14x* + 49x°) - 36]
= X[¥(x* —14x* + 49) - 36]
= x:x2<x3 - 7)2 - 36]
:x=(x3—7)2—36]
= -7f - (®)
:x(x3—7x—6Xx3—7x+6)
(@ls3> 59
(a+bf+(a-bf —(a2-b?f —1=(a+bY +(a—b) —[ (a—b)a+b)f -1
=(a+b)’ +(a-b)’ -(a—-bf(a+bf -1
=|(a-b)}-1]+(a+b}p-(a—b)|
=-p-(a-bp)s <a+b>2[1—<a—b)2]
=[L-(a-b)’, [—1+(a+b)2]
~h-(a-b}] [a+by -1
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(@ls3> 60
Xy? —xz? +yz? — yx* + 2x* — zy? :(xy2 —zy2)+(—xz2 +x22)+(yz2 —~ yxz)
x—2)+x2(x—2)+y(z2 - x*)
X—2)+xz(x—2) - y(x—z)x+2)
=(x—=2)[y? +x2 - y(x+2)]
(x—z)(y2+xz—yx—yz)
(s> 61
a’ +b*=(a+b) —2ab
X' +64= (x"‘)2 +(8)
= (x2 + 8)2 —16x°
:(x2 +8)z —(4x)

:(x2+8+4xXx2+8—4x)

(@ls> 62
X2 +10x+24 = x> +(6+4)x +(6)4)
=(x+6)x+4)
(Uly 63
X2 —7x+60 = x? +(~12 +5)x + (-12)5)
=(x-12)(x +5)
(@ls> 64
4x% —20% + 21 = (2x)* +(-=3-7)2x)+(-3)-7)
=(2x—3)2x-7)
(lsS 65
9x? —9xy —10y? = (3x)* +(~3y)3x)—10y?
= (3x)” +(=5y + 2y )3x)+(-5y)2y)
= (3x-5y)(3x+2y)
(lsS 66

25x? —5x — 42 = (5x)* + (~1)5x)—42
=(5%)* + (=7 +6)5x)+ (- 7)6)
= (5x—7)5x+6)
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(Pls> 67
(x—2y) —(x-2y)-20 = (x— 2] +(-1)(x - 2y)-20
=(x—2y)’ +(-5+4)x—2y)+(-5)4)
=[(x—2y)-5][(x - 2y) + 4]
=(x—2y-5)x -2y +4)
(s> 68
2x° +7x+3:%[1(2x2 +7x+3)]
—%(4x2 +14x+6)
=—[2x (7)2x)+ 6]
- —[2x (6+1)2x)+ (6)1)]
=%(2x+6)(2x +1)
=(x+3)(2x+1)
(s> 69

6x? —x—1:%[6(6X2 —X—l)]
:%(BGXZ —6x-6)
- % [(Gx)2 +(-1)6x)- 6]
- % [(6x)2 +(=3+2)6x)+(- 3)(2)]
=%(6x—3)(6x+2)
- % [3(2x —1)(6x +2)]
:%(2x—1)(6x+2)

= %[2(2x ~1)(3x+1)]

=(2x-1)(3x+1)



X2 —19x + 48 = (x)* +(—19)x + 48

(x)* +(~16 —3)x + (-16)(-3)

=(x-16)x-3)

100x? +40x — 21 = (10x)* +(4)10x)—21

(10x)* +(7 =3)10— x)+(7)-3)

(10x +7)10x —3)

Xt —17x2 +16 = (x* ] + (= 7)(x?)+16

(<2 +(~16 -1)(x? )+ (~16)(-1)
(x? 16)(x -1)
(

X —4)x+4)x -1 x+1)

16x* —52x? +36 = (4x? | +(~13)(4x? )+ 36
= (4x? ) +(-9-4)ax?)+ (-9)-4)
= (ax? —9)ax® - 4)

x® —7x° (xs) 7)(x )

8
:(x3) ~8+1)(x°)+(-8)Y)

oo sxx +)

a*+a’+a’—2a-3=(a*+a’)+(a’—2a-3)
=a*(a+1)+(a+1)a-3)
=(a+1)a’ +(a-3)]
—(a+1)a*+a-3)

x* —10x%y? +9y* = (xz)2 + (—IOyZXx2)+ oy*

Olusly gy A0 26

(@l 70

(lsz 71

(@ls5> 72

(@ls3> 73

(@ls> 74

(s3> 75

(@ls3> 76

= (2 f + 9y = y2 ) )+ (- 9y ) y?)
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(Xz _ 9y2)(X2 _ yz)
(x =3y x+3y)Xx—yNx+y)

(lss 77
(x2 + 3x)2 - 2(x2 + 3x)— 8= (x2 + 3x)2 + (- 2)(x2 + 3x)— 8
= (x2 + 3x)2 +(-4+ 2)(x2 + 3x)+ (- 4)2)
= [(x2 + 3x)— 4] [(x2 + 3x)+ 2]
= (x2 +3x —4)(x2 +3X+ 2)
=(x=1)x+4)(x +1)x+2)
(lss 78

X740+ 4 X 404X+ x+L= (X4 X+ %+ x4 )+ (6 + X2 +x+1)
X4 3

X3+ X%+ X+1)+ (X2 + X2+ x+1)
(x® + X% + x+1)x* +1)

(x2 -~ 5x)2 ~-36= [(x2 -~ 5x)— 6][(x2 -~ 5x)+ 6]

(x2 —5Xx— GXXZ —5X + 6)

(x +1)x —6)x — 2)(x - 3)

(>l 79

(s> 80
(x* +36f — 25x(x* +36)+ 156x*
(x* +36] + (- 25%° [x* +36)+ 156"
X* +36)+ (- 13x* —12x|x* + 36)+ (- 12x* |- 13%°
= [(x* + 36)-12x]|(x* + 36) - 13%]
x* —12x° +36)x" —13x’ + 36)
= [b¢ - 6o - 8o - al” - o]
(x2 - 6Xx2 - 6Xx —2)x + 2)(x - 3)x + 3)

Il
_— —

(1> 81
(x2 —3x)" —14(x? —3x)+40 = (x* - 3x)’ (10 - 4)(x* — 3x)+ (~10)(- 4)
=[(x2 —3x)-10][(x* - 3x)- 4]
(x> —3x—10)(x* —3x—4)
(x=5)x+2)x +1)x —4)



(X +21)x+2)x +3)x +4) - 24 ={x* + (L + 2+ 3+ 4)°

+[0)2) + @)3) + (1)4) + (2)3) + (2)4) + (BN4)X*

+[002)3) + (12)4) + (2)3K4) +]x + (Lx 2x 3x 4} — 24

Oluslygey A0 28

(Vs> 82

=x" +10x® + 35x* +38x + 24 — 24

= x* +10x> + 35x% + 38x
= x(x3 +10%? + 35X + 38)

x3+3x2+5x+6=(x3+2x2)+(x2+5x+6)
= x*(x+2)+ (x + 2)(x + 3)
:(x+2)(x2+x+3)

x4+ x% + x? +4x+3:(x4 +x3)+(x2 +4x+3)
x3(x+1)+ (x +1)(x +3)
= (x+1)x* +x+3)

5X? — 40X + 75 = 5(x* —8x +15)
=5(x —3)(x-5)

50x* —30xy +56Yy2 = 2(25x2 —15xy — 28y2)
- 2|(5x)? + (3y)5x) - 28y?]

= 2{(5X) +(7y - 4y)5x)+ (7y)—4y)]
=2(5x+7y)5x—4y)

X ~10% +9 = (x*f (-1 ()
EXZ)Z )+ (-9)-1)

X —1Xx -~ 9)
-D(x-1D(x-3)(x+3)

(Vs> 83

(Llys 84

(lg> 85

(Wly3> 86

(lg> 87
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(ls 88
(x2 - x)2 - 8(x2 - x)+ 12 = [(x2 - x)— 2][(x2 - x)— 6]
:(xz—x—Zsz—x—G)
= (x +1)(x = 2)(x = 3)x + 2)
(ls 89
(a+bf -5a-5b+4=(a+b)f -5@a+b)+4
=[(a+b)-1][(a+b)-4]
=(a+b-1fa+b-4)
(ls3 90
a® —5a* +4=(a“)2 +(—5)(a4)+4
=(a*) +(-1-4)a*)+(-1)-4)
~(a* 1Xa4 4)
= (a2 -1)a® +1)a> - 2)a? +2)
=(a-1)a+1)a? +1fa’ - 2)a’ +2)
(Wle> 91
2a%(b? + c?)—b?(2¢? +b?)—(a* + c?) = 2a%h? + 2a%c? — 2b%c? —b* —a* —c*
= (— a‘ +2a’b® - b“)+ 2a°c? — 2b%c® —c*
= —(a“ —2a’h® + b4)+ 2a’c? - 2b%c? —c*
(az—b2)2+202( 2 b2) ¢’
o7 et o)
— a2 —07f + (27 )a? —b?) s
I O SRS ]
o))
e
= —(a2 ~b*-c )2
(ls> 92
(x +2)(x + 3)(x + 5)x + 4) —120 = [(x + 2)(x + 5)][(x + 3)(x + 4)] =120

(2 + 7x +10)x? + 7x +12) 120
= [(x2 + 7x)+ 10][[x + 7x)+ 12]-120




Sluoby e 20 30
(x +7xf + 22 + 7x)+120 —120

X° + 7x)2 + 22<x + 7x>
X° + 7xXx + 77X+ 22)
x+7x)(x +7x+22)

—

(Wle> 93
(x+2)(x +2)(x + 3)(x + 4) — 24 = [(x + 1)(x + 4)][(x + 2)(x + 3) — 24]
= (x* + 5x + 4)x® + 5x + 6) - 24
[(x + 5x)+ 4][(x + 5x)+ 6] 24

= (x* + 5xJ +10(x* + 5x)+ 24 — 24
(x + 5x)+ 10(x + 5x)
=

X +5x)2(x +5x+10)
= x(x + 5)x +5x +10)
(lg> 94

X2 +4y? —BX+10 — 4xy — 24 = (x? — 4xy + 4% )+ (5x+10y)—24
(x—2y) -5(x-2y)-2
(x2 + 2x)2 (-5)x - 2y)— 24
(x2 + 2x)2 —8+3)x-2y)+(-8)3)
=[(x—2y)- ][(X 2y)+3]

(x -2y —8)x — 2y +3)

(lg> 95

(x+2)(x +3)x + 7)x+5)+15 = [(x + 7)x +1)][(x + 5)x + 3)]+15

= (X2 +8x+7)x? +8x+15)+15

=[(x? +8x)+ 7][(x* + 8x)+15]+ 15

= (x2 +8x)2 + 22(x2 +8x)+105 +15
[(x2 +8x)+12f -1
(x? +8x+11-1)x* +8x+11+1)
(x +8x +12Xx2 +8x +10)
(x+2)(x+6)(x+4+\/€Xx+4—\/5)
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(ls 96
8a® +b* =(2a)’ +(b)’
~ (2a+b)[(2a)’ - (2a)b)+(b)’]
= (2a+b)4a” - 2ab+b?)
(wls 97
27a° —1=(3a)’ - (1)
= (3a-1)(3a)’ +(3a))+ 1)
= (3a-1)9a® +3a+1)
(wls> 98
64a° —27 = (4a)’ - (3)°
~ (4a-3)(4a)’ +(4a)3)+ (31
— (4a—3)16a° +12a+9)
(ls 99
a®+125=(a)’ +(5)°
= (a+5)a)" - (a)5)+ 5]
=(a+5)a’ —5a+25)
(Wl 100

18a° + 40°f — (0a° —5b°f = [18a° + 4b°)— (9a® - 5b°)|[[18a° + 4b°)+ (9a® — 5b°
= (9a° + 9b°)272° - b?)
= 9(a3 + be’XZYa3 - b3)
= 9[(a + b)(a2 —ab+ bz)][(?;a + b)(9a2 +3ab+ bz)]
(3 101
(¢ —1)—x*(x—1) = x* —1— x> + X2
(¢ =)+ -1)
x3(x° 1) (x 1)
(x —1)X +1)

[(x=1)x+1)] [(x +1)(x2 —X +1)]

(s 102
(x* = 7x2 +12)+ (2x¢ —8x)

[(x2 —3Xx2 —~ 4) + 2x(x2 - 4)

x*+2x3 —7x? —8x +12
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(x2 —4Xx2 -3+ 2x)
= (x—2)(x+2)(x* +2x~3)
=(x—2)(x+2)x-1)x+3)

X" +x'-16x> —16 = (x7 —16x3)+ (x4 —16)
= x*(x* —16)+ (x* ~16)
=(x* - 16Xx +1>

[(x 4Xx +4)][x+1)(x —x+1)]

= (x - 2)(x+2)(x +4Xx+1)(x —x+1)

—

X3 —4x% +5x-2 = (x3 3x? +3x— 1) ( x2+2x—1)

a’+a-10=(a°-8)+(a-2)
:(a 2)a? +2a+4)+(a-2)
(a-2)a?+2a+4+1)
:(a—2(a2+2a+5)

ax’ +x* +x+1l-a= (ax3 —a)+(x2 + x+1)
= a(x3 —1)+ (x2 + x+1)
=a(x—1)x + x+1)+ (x* + x +1)
= (x? + x+1fa(x -1)+1]
= (x* +x+1)ax—a+1)

8a° + b — 4a’b — 2ab? = (8a® + b*)- 2ab(2a + b)
=[(2a+b)4a® — 2ab + b?)|- 2ab(2a + b)
= (2a+b)4a® — 2ab+b? — 2ab)

(s> 103

(Wlss 104

(WDly> 105

(s 106

(Wly> 107
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= (2a+b)4a - 4ab+b?)
(2a+b)2a—-b)
(2a+b)2a-b)2a-b)

(s 108

a® —b® =(a®-b*)a® +b°)
~[a-b)a? +ab+b?)J(a+b)a? —ab+b?)

(s 109

a®+b®—a’ +ab—b’ =(a® +b*)-(a? —ab+b?)

a’b’(b —a)+ b’

=[a+b)a? —ab+b?)]- (a® —ab+b?)
=(a®—ab+b’Ja+b-1)
(Uls 110
’(c-b)+c*a’(a—-c)

=a’h® —a’v’® + b’c® - b’c® + c’a’(a-c)

= (azb3

- b3c2)+ (— a’’ + b2c3)+ c’a’(a—c)

= b3(a2 - cz)— bz(a3 - c3)+ c’a’(a-c)

=b*[(a
=(a-c
(
(
(a-
(a-
(a-
(a-

-(
-(

Q.)

—C

QJ

—-C

QJ
O

QJ
O

QJQJ
C')O

)
)
)|
)
)
)
)
)
)

a?(b® —c®)+b2(c* -
-l

—c)a+c)- bz[(a - c)(a2 +ac+ cz) +c’a’(a—c)

b’a +b’c - b’a® —b*ac - b’c® + c’a’
(b3a bac)+ (b% — bc? )+ (- ba? + %’ |
b’a(b —c)+b’c(b—c)- az(b2 -~ cz)]

(b c)(b a+b’c—a (b+c))]

(b c)(b a+b’c-a’h-a c)]

(b c){(bza azb) (b c—a c)}]

(b cKab(b —a)+ c(b2 ~a )}]

a—c)|(b-c)ab(b—a)+c(b—a)(b+al}]

a-c)(b-c)(b—a)(ab+ch+ca)

(lss 111
el -b7)
C3)+( _b% 3) ( zbs)
2b3)+( a’c’ +¢%a’)+ (b°c® —b%a’)
—a’c?(c-a)+b2(c® -a°)

2
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b?(c* —a®)-a’c?(c—a)-b*(c? —a?)
=b’(c-a)c?+ac+a’)-a’c’(c—a)-b*(c-a)c+a)
— (c-a)p*(c® + ac + a®)- a’c® —b*(c + a)]

= (c - a)(bc — a’c?) + [b’ac — b’c)+ (b’ — b’a|

(c-a)c? (b2 -a ) b’c(b —a)-balb - a)]

( )b +a)-b’c - ba]
=(c—a)(b—a) b +c’a—b*c-b a]

( )(cb bc) (ca ba)]

=(c-a)b-a)cb(c—b)+ a( bz)]

=(c—a)b—a)c—b)cb +a(c +b)]

=(c—a)b—-a)c—b)ch +ac + ab)

(lys 112
(a+b+c)3—a3—b3—c3_l(a+b+c aJ (0° +c?)
=(a+b+c—a)[(a+b+c) +(@a+b+cla+a ]— (b+c)b? —bc+c?)
= (b+c)a® +b? +c?2ab+ 2ac + 2bc +a’ + ba+ac+a’ + (b +c)-b? +bc —c?))

(b+c)(a2 +b* +c?2ab+2ac+2bc+a’ +ba+ac+a®—b’ +bc—cz)
(b +c)3a? + 3ab + 3ac + 30c)

3(b+c)a® +ab+ac+bc)

3(b +c)a(a+b)+c(a+b)

3b+c)a+b)a+c)

(Ul 113
y'(a-x)-x*(a-y)+a’(x-y)=y’a-y’x—x*a—-x’y +a’x—a’y
=(y%a-x%a)+ (xy - y°x ) (a*x-a%)
=-a( =y} /(" - y?)+a’(x-y)
=—a(x—y)+xy+y° )+ xy(x— y)Xx+y)+a’(x—y)
=(x - y)[— a(x2 + XY+ y2)+ xy(X +y)+ a3]
= (= yfl-ax +xy)+ 00 - ) + (@~ ay?)]
= (x=y))(y —a)+ xy(y —a)-aly? -2
(lss 114
8X°(y +12)— y3(z+2x)— 2°(2x— y) = (BX°y +8X°2)— y3z — 2y*x — 223 + 2%y
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:(8x3y—23y)+(8x3z—223x)+(— y32—2y3x)

— y(8x® +2° )+ 2x2(4x? — 22 )- y¥(z + 2x)

= y|(2x+ 2)(ax® + 2xy + 22 )|+ 2xe(2x + 2)Y2x - 2)] - y*(z + 2x)
y(4x +2Xy + 2 )+2xz(2x z)- y:
AX2Y + 2%y + 2%y + 4X°7 — 2x7° —y
[(z y—y*)+(2xy? —2x2?)+ (ax? y+4x z)]

)
)
)
2x+z)y(z —y) 2x(z —y2)+4x2(y+z)_
) y(
)
)

(Wl 115
x3+y3—x2y—xy2—x—y=(x3+y3)+(—x2y—xy2)+(—x—y)
= [0y 4 y7 -yl e y) = (e y)
= (x+ Y + ¥ —xy —xy —1)
= (x+ y)[(x2 +y° - 2xy)—1]
= (x+ y)ox-y) -
=(x+y)x-y+1)x-y-1)
(lss 116
(x“ +4x° +4)—4x2
(x? + 2 - (2x)?

(x2 +2—2xXx2 + 2+2x)

X' +4

(Wly> 117
a'+a’h*+4=a'+a’h*+4+a’’ -a’h’
= (a* +2a%h? + 4)-a%?’
= (a2 + bz)2 —a’b?
— (a2 +b? —ab)a’ +b? +ab)
(Ve3> 118
a*+b*+c* —2a%? —2a%c? —20%c? =[ a* +b* +c* —2a%h? — 2a%c?| —4b%c?
= (a2 —b? —cz)2 ——4b%c?
= (a® —b? —¢? —2bc)a® —b? —c? + 2bc)
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=[a2 (b +C +2bc)] [a (b2+c2—2bc)]
la — (b + ¢ ||a - (o c}]
[(a-b-c)a+b+c)|[@a-b+c)a+b—c)
(Wly> 119
a’+a’+1= (alo +a’ + ag)— (ag +a’+ a7)+ (a7 +a’+ as)—(a6 +a’+ a“)
+l@®+at+a’)-(@*+a’+a )+ (a® +a+1)
= af‘(a2 + a+1)— aﬂ(a2 + a+1)+ a5(a2 + a+1)— a“(a2 + a+1)
+a3’(a2 + a+1)— a(a2 + a+1)+ <a2 + a+l)
=(a2+a+1Xa8—a7+a5—a4+a3—a+1)
(wle> 120
(x* + %2 +1f —24x* —24x% +39 =(x* + x? + 1] —24x" —24%* — 24 + 24+ 39
= (x4 +x° +1)2 —24(x4 +x° +1)+ 63
= (x* + X2 +1f + (-3 21)(x* + x2 +1)+ (- 3)(-21)
= [(x* + x2 +2)=3][(x* + x2 +1)-21]
=(x4+x2—2Xx4+x2—20)

(Ul 121
ax* —5x2y2 + y4 — Ax* —4x2y2 n y4 _Xzyz
~lox? 2ot y?)+ (y2 |- x2y?
_ (Xz _ yz)Z —(xy)2
= (2X2 _ y2 _ XyXZXZ _ y2 + Xy)
(Ol 122
x* ~11K°y2 = [X _ X%y + y4J_9X2y2
X2 -y )Z 9x?y?
) sol v+ aw)
= (2~ y* -3y )" - y* + 31y)
(Ul 123

X' — 47Xy +yt = [x4 +2x%y? + y4] _2x2y? —4TXY?
_ (XZ n y2)2 _49x2y?
= [(x2 + yz)— 7xy][(x2 + y2)+ 7xy]



37 £ 403 930l gyesedl

= (x2 +y? —7xyXx2 +y2+ 7xy)

X+ x'+1= ( x° + 2x* +1) x*
bt +2f -
[(x +1) X ][(x +1)+x]

(x—x +1Xx+x +1)

5x° — 5x(25x7 —144) = 5x|x* — 25X + 144
=5x(x — 24%% + (12)) — x ]
=5X (x - 12)2 ~ X
= bX (x -12 - xXx -12 + x)]
= 5x(x - X 12Xx - X- 12)
=5x(x — 4)(x + 3)x + 4)x - 3)

3x° —5x+2 = (3x* —3)-5x+2+3
=(3x*-3)- 5x+5
=3 ~1)-5(x~
—3[x 1(x2+x+1)] 5(x—1)
= (x=1)[3(x? + x+1)-5]
= (x—1)3x* +3x - 2)

(x+1)* —13x —61=[(x +1)* —13x —13] - 48
=(x+1)* —13(x +1)—48
=[(x+1)-16](x +1)+ 3]
=(x—15)x +4)

X' +4x%y? +16y* = (x* +8x%y® +16y*) —4x?y?
:(x2 +4y2)2 —4x%y?
= (x2 +4y° —2xyXx2 +4y° + 2xy)

(s 124

(s 125

(Vs> 126

(ls> 127

(s> 128
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(s> 129
11x% +15x —14 = (10x? + 20x)+ (x? —5x —14)
=10X(X +2)+(x + 2)(x - 7)
= (x+2)10x +x—7)
=(x+2)11x-7)
(Dl 130

t59e5 5l 935L5 )3 abe> 22°D7
a’ +b* +¢* —2a’h* — 2a°c® - 2b’c?
= ( a’ +b* + ¢ +2a’h® —2a’c’ - 2bzcz)— 4b*c®
= (a2 +b° - 02)2 — 4a’b?
= (a2 +b*-c% + 2abXa2 +b* -’ - 2ab)
= [(a +b) — cz][(a ~b} - cz]
=(@a+b+cla+b-cla-b+c)a-b-c)
(3 131
X' +6x% +1=(x*-6x>+9)-9+1
=(x*-3f —9+1
=(x2-3f -8
= (x? -3+ 2422 —3-212)
(lss 132
X - x2+7 = (x“ + 247X +7)—2x2ﬁ— X2
= x? +2\/7)Z — 2T =X
(x2 + 2\/7)2 - <2ﬁ +1)><2
X +A7 - 2\/7+1xj(x2 +7 +4 2\/7+1xj

(
(xz ++ 247 +1x +\/7j(x2 — 2\/7+1x+\/7)

(Olss 133
x* +4x—1:(x4 +2X? +1)—(2x2 —4x+2)

(x? +1f —2(x 1)’
[x2 +1+ \/E(x—l)z][x2 +1—\/§(x—1)]
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= (x2 +\/§x+l—\/§)(x2 —\/§x+l+\/§)

(ls> 134
a” +a"+ =(a5 a? )+ (a2 +a" +1)
=a’ (a —) (a +a" +l)
=a’ (a 1Xa +a" +1) (a +a" +1)
=@ +a" +1)fa* —a" +1)
(Dlg> 135

(2xF + (y) + @ - 32x)y))
(2x+ y+1)[2xF + (yF + @F - @x)Xy) - 2x)0) - (y)o)]

(2x+y+1)(4x2 +y° +1—2xy—2x—y)

8x% +y® +1—6xy

(Wle3 136
a®+(2-a) -8=(af +(2-a) -(2)
=@y +(2-af +(-2)
a+(2-a)+(-2)=0=(a) +(2-a) +(-2) =3(a)2-a)-2)
=—6a(2-a)
—6a(a—2)
(Wles 137

(2a—b)’ —(a-b)-a’=(2a-b)’ +(b-a)f - (a)
(2a-b)+(b-a)+(-a)=0= (2a-b) +(b—a) +(-a)
=3(2a-b)+(b—-a)+(-a)

=(2a-b)’ +(b—-a) +(-a) =3(2a—b)a-b)a)

(s 138
(a-bf+(b-cf-(a-cf=(@-b)+(b-c)f+(c-a)
(a-b)+(b-c)+(c-a)=0=(a-bf +(b-cf +(c—a)
=3@a-b)+(b-c)+(c—a)
(Uly 139

(a2 —b2)3 —(c2 —b2)1 +(c2 —az)3 = (a2 —bz)z + (b2 —c2)3 +(c2 —az)3
(a2 - b2)+ (b2 —cz)+ (02 - az): 0 :>(a2 —b2)3 + (b2 —02)z + (c2 - az)3

= B(a2 —b2)+ (b2 —cz)+ (c2 -~ az)
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= (@ —0?f + (o> - c*f + (- af
=3(a-b)a+b)b—c)b+c)c—a)c+a)

(Vly> 140
8x® —y® —1-6xy = (2x)° + (- y)’ + (=1 - 3(2x)- y)-1)

:(2x—y—1)(4x2 +y? +1+2xy+2x—y)

(g 141
(a-b-c)+(2b-a-c)+(2c-b)=0=(a-b-cf +(2b-a-c) +(2c-by
=3@@a-b-c)+(2b—-a-c)+(2c-h)

(e 142

iz 9 e ) clae Lol s g5 @° —be=x,b* —ac=y,c’ —ab=2z¢ 5 b
x3+y3+23—3xyz:(x+y+z)(x2+y2+22—xy—yz—xz)
= [(a2 — bc)+ (b2 — ac)+ (c2 — ab)]
(a® —bef + (b - acf +(c* - abf

- (a2 - bc)(b2 - ac)— (a2 - bc)(c2 - ab)— (b2 - ac)(02 - ab)

(Vly> 143
a® —1=(af - (0F
—(a-1)(a* - a®x1+a° x (1f + a1} + (1))
= (a—l)(a4 +a’+a’ +a+1>
(I3 144
2*-32 = (a + (2
—(a-2)fa‘ +a*x2+a’x 22 —ax 2’ +2°)
~(a—1)a* +2a° + 42’ —8a +16)
(I3 145
2x* +5x —3= (2x2 - x)+ (6x —3)
= x(2x —1)+3(2x 1)
= (2x—1)(x +3)
(s 146

2x° —5x* +5x 3= 2x° —3x?)— 2x* + 3x+(2x—3)
= x?(2x—3)—x(2x—3)+(2x - 3)
= (2x-3)x* —=x+1)
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(lss 147
a®-2a’+1= (a5 a?)-a?+1
=a’(a®~1)-(a*-1)
=a?|(a-1)a’ +a+1)|-(a-1)fa+1)
(a 1)a?(a® +a+1) (a+1)]
=(a-1)a‘+a*+a’—a-1)
(Oly 148

x3(x2 —~ 7)2 —36x = x[xz(x2 - 7)2 36]

-xz(x )+6][ (x —7) 6]

:x(x —7x+61x —IX— 6)
:x(xs—x)—6x+6”(x —x)—6x 6]

—x_x(x —) 6(x — 1][x(x —1) 6(x+1)]

= x[x(x = 2)(x + 1) - 6(x = 1)][x(x — 1)x +1) - 6(x + 1)]
:x_(x—l)(xz+x—6)][(x—1)(x2—x—6)]

= X(x —1)(x + 3)(x = 2)(x + 1)(x — 3)(x + 2)

= X(X = 1)(x + 1Y(x + 2)(x = 3)x — 2)(x + 3)

=

(s3> 149
a? +8ab+15b? = (a? +8ab +16b? )—b?
= (a+4b)’ —b?
=(a+4b+b)a+4b—b)
=(a+5b)a+3b)
(s3> 150

X*+x¥+x-1= (x +1Xx +ax+b)
=x'+ax® +bx® + x* +ax+b
=x*+ax® + (b +1)x* +ax+b

a=1

b+1=0

a=1

b=-1

X“ %%+ x—1= (X2 +1)(* + x—1)
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955 4525 aS95 &y slolss B> 4z doysd 553 8 (3Bl sui¥ 5)lsé t5 S (2, (s 151
x*+2x* +5= (x2 +ax+ b)(x2 +ax+ﬂ)
=x' rax’fx® +ax’ +aax® +apx+bx* +bax+bp
=x‘+(a+a)X’+(b+p+aa)’+(af+ba)x+bs

a+a=0
b+p+aa=2
af+ba=0
bg=>5

a+b=0=a=-a—5>-gf+ba=0=ba-Ba=0=alb-A)=0
N a=0=a=0
b-p=0=b=p
B ol D 53 ospse digyix sl Lhie (2 e 2 (5O digyd Jolee 420 doygd suid S
04 s=b+f=2
p=bB=5
if b=p—t > p*=5= =15
it  b=p=-—C 5 5+ Bi(-ala=2=0a"=-2/5+1

(S5 Hlude egdse O ol @

>t2—st+p=0:>t2—2t+5:0

it b=p=v5—2>V5+\5+(a)=2=a’=2(5-1)

x'+2x° +5= (xz +xy2(V5 —1)+ \/g)(xz “xf2(5-1) + \/gj

(Plg3 152
sb 9‘ a é&9‘09&3@)&53&5015‘3‘9-30)9&%%9)95 b 3‘ a 99.).)&5)519.:595‘9@».0&
999 (Sod > 0oLl g)sjwos}lguwegggfjb ?w‘bc\g:(yaosodjogjdg?go)yoc\g ooy
usju\_)u_fﬁ))s_»oc\_gg_!i?‘é bg'a d ..\_>3a2bC c\_i;) 00@0}9)&%4&9}5}' b 9‘ a
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cogly Sdilho 5 (JuuS (55 pulul (68 1 53 (050
Lixo 15 95«59 =2 0990 Somud 4 9595 95> 8 §9|5> §2|95 Olgluno 091 & a5 =X 0y spuogs
(s9 Sdillae 5 4 ok (2 (5,

(s 153
A= xy(x+y)+yz(y —z) - xz(x + 2) =
=Xy +xy’ +yz—yz’ —x’z-xz’
= (xzy - x22)+ (xy2 - x22)+ (yzz - yzz)
= x2(y - 2)+ x{y* - 2°) - yely - 2)
=(y —z[x2+xy+z +yz]
:(y—z)(x +xy+xz+yz)
=(y—z)x(x+ y)+ z(x + y)]
=(y - 2)(x+ y)(x + 2)]
=(y-z)x+y)(x+2)
(lss 154

9299 o 4S5 (5 39250 Jolo (X — y)gswlé'dgs"usé;i@‘\igsw odbl g9 X =Y a5
s Wiy rmdi s (X=YNY = Z)Z = X) 3 0361 00l 2 580 g sl (53 3 50 blize 5
G
(x=y)° +(y=2) + (2= %) =(x=yNy - 2Nz =0 A(x? + y* +22)+ B(xy + xz + y2)]
52000 A=D imd Aly-2) 51 +5(y-2) e Ay S asleB g)lsd 4w yo XY
u»lwl%go)g.g_;aBz—S ﬁgsfmﬂga.lggo,wg];cbga“omslz:0‘Y=1X =2
(x—yF+(y—2F +(z2=xF =5(x—y)y—2)z=x)x* +y* +2° —xy— yz — xz)
(g3 155
(ose OsI 0w sla 4y X 51 Y, Y 51X S (se) 03 0 Bliie &5 YeX Copund 03]
if y=x=A=0
if y=-2y=A=0 . sJ L eaii s (X+2y) 5 A olol 55
if Y=-2X=A=0 )i et s (N+2Y) 5 A Lull 55
A=[(x+2y)2x+ylx—-y)f
$Y slusl (3 3 5 .S 0 0l a=-D sslos 20y a5 C,b A candosldl (olsd 156
(-spS o 03l uWb=-Ccsla=-C o%,'z,oc\lg‘lgggo”b 3) 55 0398 S
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(a+b+c) —a*-b*-c®*=A(a+b)b+c)c+a)
= [(@+b)+cf —a®—b® —c® = A(ab + ac+b? + bc)c + a)
= [(a +b)’ +3(@+b)’c+3@+b)? + c3]— a’-b®-c?
Alabc+a’b + a’c + ac? + b2c + b%a + bc? + abc)
= [(a3 +3a’h +3ab® +b? + 3(a + 2ab+ b? )c + 3ac® + 30c? + cs)]— a’-b°-c’
= A(2ab + a%b + ac? + a’c + b7c + b’a + bc?)
= a° +3a’b + 3ab* + b* + 3a’c + 6abc + 3b’c + 3ac* + 3bc® + ¢’ —a® -b® - ¢®
= A(2ab + a%h + ac? + a’c + b7c + b’a + bc?)
= 3a’b + 3ab® + 3a’c + 6abc + 3b%c + 3ac® + 3bc® =
= /1(2ab +a’b+a’c+ac® +b’c+b’a+ bcz)

= 3(a2b +a’c+2abc+b%c+ac® + bcz)z
= A(a% + ab® + a’c + 2ab+b2c + ac + bc?)
=>A1=3
(@a+b+cf-a’-b®-c®=Aa+b)b+c)(c+a)
=3(a+b)(b+c)c+a)
(WDly> 157
ol X+Yy gwu&;oﬁ‘oa,uo\_;@wo)g X==Y 335l 20304 Z,Y,X Zorwd 008
.é)Jlﬁjggmmﬁjo(Z+X‘y+X)%,39ol§|9hg”l&,go”oo~U”|
(x+y+2z2)f —x*—y*=2° =M(x+yNy+z)z+x)
o5y Jy ad (g9 azyd Aoty ol JBLie (puilomte aliyy ay 7, Y, X o (g5 (0 slslne
G M oLl (53 13 155 423 Aoty 1 ,Bliso il oo (X+ YNy +2)Z+X)
f S 03l Ay doygd 5l uilerie bloe a5 2, Y, X
M = A(x? + y% +22 )+ B(xy + yz + x2)
(x+y+z)5—x5—y5—z5:(x+y)(y+z)(z+x)><[A(x2+y2+22)+B(xy+yz+xz)]
X=Y=2=1 6,5 50,8 (5,55 3o & sigtond oli Z,Y,X o Wb cdlhe wsly
240 =8(3A+3B)= A+B =10
if x=y=1,2z=0=30=22A+B)=2A+B=15
(x+y+z)5—x5—y5—25:(x+y)(y+z)(z+x)><[5(x2+y2+zz)+5(xy+yz+xz)]
(Uly 158

> A=B=5

o)_zgc\_;:u»l_w‘gzgéd_):%gzﬁf).ugl?‘ X==Y 34l o plaxe & Z,Y,X Cuwd yls o9 80
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X2Y+X Y2+ X224+ X2 + Y22+ Y2 + 2xyz = (x+ y\y + z)z +X)

(@ls> 159
A=36a’h’c* =2°x3*xa’ xb*xc?
B =24ab’c* =2°*x3xaxb* xc*
C =16a’b’cd =2* xa* xb®xcxd
o U5 e s 5 = 27 xaxb? xc =4ab’c
Cyan oS s i 5 =2 x 3 xa’ xb* xc* xd =144a%b*c*d
(lss 160

A=2%x3x5x(x—1f x(x +1)
B=22x3?x(x-1)x(x+2)
C=2"x5*x(x-1)
D=2x3"x(x-1)" x(x +1)

M@\s\fﬁ—wsjsi):z(x_l)
e o5 LizsS st 5 = 20 x 32 x5 x (x—1)" x (X +1) x (x=1) =3600x (x —1)! (x +1)* (x +2)*
(Uls 161
A=x>-8=(x- 2)(x2+2x+4)
B= (x2—4)z [(x=2)x+2)F = (x -2 (x + 2)
C=(x"—3x’ —af =[x+ 4)x® +1)f = (x* + af (* +1f =(x—2P(x + 2P (x + 1)
pp=(x—2)
ppS= (x = 2P (x + 2P (x + 1 (x° + 2x + 4)
(Uly 162
A=23><3><5><(X—3)2(X—1)3
B:22><32><5><(X—3)(X—1)2 ,
C=2"xFx(x-3(x+1)

pp=2° ><3><(X—3)
ppS=2"%x3 ><5><(X—3)3 ><(X—1)3 x(X+1)

(Pls> 163
A=9x* —81=(3x—9)3x+9)=3*(x—3)x+3)
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B =x?—6x+9=(x-3f
C =5x% —15x =5x(x—3)=5x(x-3)
pp=(x-3)
p.2S=32 x5x xx(x—3) x(x+3)

(Plys 164

A=4a’> -9=(2a-3)2a+3)
B=4a’-12a+9=(2a-3)
C =10a-15=5(2a - 3)

o = (22 - 3)
.S =5(2a - 3)’(2a + 3)
(lss 165
A=a*-81=(a’-9)a?+9)=(a—3)a+3)a% +9)
B=a‘+18a’ +81=(a® +9f

A= (a2 +9)
~pS=(a? +9f (a—3)a+3)
(Ll 166

A= 40y° - 5 = 58y° —1) = 5(2y — 1)4y* + 2y + 1)
B =4y’ —4y+1=(2y -1y
C =40y® - 60y* +30y -5

= (40y° - 5)— (60y” - 30y)

= 5(8y* —1)— 30y(2y - 1)

=5(2y —1)(4y2 +2y +1)— 30y(2y 1)

— (2y ~1)f5 x (4y? + 2y +1)- 30y]

— (2y —1)20y? - 20y +5)

=5(2y —1)(4y2 — 4y + 1)

=5(2y —1)2y — 1)

=52y - 1)
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A =5(2y 14y + 2y +1)

B=(2y-1)
C =5y -1y
pr=(2y ~1)
aps =52y —1f(4y? + 2y +1)
(Dly> 167
A=x® +8x2 +15x = X(X? +8X+15) = x(x + 3)(x +5)
B =x*+3x* —10x* = x*(x? +3x =10) = x*(x — 2)(x + 5)
AA = X(X + 5)
ppS= X3 (X +5)x +3)x - 2)
(s 168
A=x*-2xy —15y% = (x)’ + (- 2y)x) - 15y?
= (%) + (= 5y +3y)(x)+ (- 5y)3y) = (x = 5y )x+ 3y)
B =x%+7xy+12y? = (x)* + (7y)(x) + 12y?
= (x)° + By + 4y)(x)+ (By)4y) = (x+ 3y)(x + 4y)
A= (x-5y)x+3y)
B = (x +3y)x + 4y)
~p = (x+3y)
ppS = (x +3y)x — 5y)(x + 4y)
(Uls 169

A=24a—24b=24(a—-b)=2°x3x(a—-b)

B =(6a—6b)’ =36(a—b) =2°x3*x(a-b)

C =(4a—4b)’ =64(a—b) =2°(a—b)

D = (4a® —9b”f =(3a—30)(3a + 30} =9x9(a—b)(a+bf =3*(a—b)(a+by
A=23><3x(a—b)
B=22><32><(a—b)2



Olusly gy A0 48

C=2(a-by
D=3"x(a-b)(a+by
ppr=(a—b)
~pS=2"x3*a-b)(a+b)
(©ls3 170
A=a’+27b° = (a+3b)a? —3ab+9b?)
B =5a” — 45b° =5(a” —9b?)=5(a—3b)(a+3b)
C =a”+5ab+6b? =(a+2b)a+3b)
~pe=(a+3b)
~.p.S=5(a+3b)a’ —3ab+9b*a—30)a -+ 2b)
(lss 171
A=a'+a’+1 B=(a5+a4+a3)+(a2+a+l)
=(a4+2a2+1)—a2 :a3a2+a+1)+(a2+a+1)
=(a2+1)2—a2 =(a2+a+1Xa3+l)
=(a2+1—aXa2+1+a) =(a+1)(a2—a+1Xa2+a+1)
pp = (a2 +a +1Xa2 —a +1)
pKa = (a2 + a+1Xa2 —a+1Xa+1)
(Wlg> 172
A=a"+5a°-36a’ B=a’+2a*-24a
:az(a2 +5a—36) :a(a2 +2a—24)
=a’*(a+9)a-4) —a(a+6)a—4)
rrm=a(a-4)
~pS=a*(a—4)a+6)a+9)
(Wly> 173

4ax+8ay _4a(x+2y)
3bx+6by  3b(x+2y)
4a
)

173)
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(Vly> 174
X —x-6 _ (x+2)x-3)
X +4x+4  (x+2)
X—3
X+ 2

(lss 175

ax—bx—ay+by _ (ax—bx)-ay+by
b -a®fx-y) ~ (b*-a*)x-y)
_ x(a-b)-y(a-b)
(a-b)o+a)x-vy)
(a—b)x-y)
(a—b)b+a)x—y)
(a—b)x-y)
—(a-b)b+a)x-y)
-1
(b+a

~—

ez 176

14b*x x5ayx6a 14x5x6x(axb)xb* xxxy
15a?xx7b®y  15x7xa’xb®xxxy
_14x5x6xa’h’xy
~ 15x7xa’bixy

=4><E
1

=4b
(Wlg> 177
34a%h°c® x6a’b’d® _ (34x6)(a® xa’ )(b° xb?)(c)(d?)
ac’d®x5la*h’c>  (51)(a*xa J(b?)(c*xc?)(d°)
36x6xa’xh’ xc®xd?

- 51xa’xb?xc®xd?

_da'p’

1

=4a’b°




a®+b®  (a+b)a?—ab+b?)

(a—by+ab a?-2ab+b?+ab
_(a+b)a® —ab+h?)
~ (a®-ab+b?)
=(a+b)

4a* +12a+9  (2a+3)
4a?-9  (2a-3)2a+3)
_2a+3
- 2a-3

8X° + 22X + 5 = %(64x2 +17x + 40)
1 [8x (22)8x) + 40]
1 [8x (20 + 2)(8x) + (20)2)]
= %(SX +20)8x + 2)
= (§ X + @j2(4x +1)
378

= 2(x+g](4x +1)
=(2x-15)4x +1)

12ax® +3ax _ 3ax(4x+1)  3ax
8x* +22x+5 (2x+15)4x+1) 2x+5

16x°-128 _ 16(x° -8)
8x? —24x+16  8(x* —3x+2)
_16(x—2)(x* +2x +4)
8(x—1)x - 2)
_Z!X +2x+4?

Xx-1

Olasly g A0 50

(Vlg> 178

(lsz 179

(s> 180

(wls> 181
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a®—b°  (a®-b°)a®+b°)
(@+b)fa’-b°) (a+bla’-b*)
(@ +p’
(a+b)
~ (a+b)(a2 —ab+b2)
B a+b
=a’ —ab+b’

cz—az—b2—2ab_cz—@2+2ab+bﬁ
a+b+c - a+b+c
_c?—(a+b)
- a+b+c
[e-(a+b)fe+(a+b)
B a+b+c
(c-a-b)c+a+b)
a+b+c
=c—-a-b

x* —9x? _(x3—3xXx3+3x)
xt—x*-6x*  x*(x*—x-6)
~ X(x=3)xx(x+3)
X3 (x=3)x(x+2)
_X+3

COX42

Xy +5X+7y+35 (xy+7y)+(5x+35)
y+5 B y+5
_y(x+7)+5(x+7)
- y+5
(x+7)y+5)
y+5
=X+7

(Ply3 182

(s> 183

(s> 184

(Wls5 185
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(lss 186
(@® +b* —c?)? —<a2 — b’ +cz)2 B
4ab® — 4abc -
B [(a2 +b* —c%) - (a2 -b*+ c"')H(a2 +b*—c) + (a2 —-b*+ cz)]
- 4ab® — 4abc
@ +b*-cf-a’+b’-c*)@ +b’> -c*+a’ b’ +c?)
- 4ab® — 4abc
2 _ 2 2
ek
4a’h’® - 4a’c’
" 4ab’ — 4abc
_4a’b? -¢?)
~ 4ab(b -c)
_alb-c)b+c)
~ bb-c)
:%@+@
(Vlg> 187
(a® + 2a%%? + x*)(a* - %) _ (a* + xz)z[(a2 — x)a? + x)]
<a2 + x)(a6 —a'x® - x3) (a2 + x)[a“(a2 - x)+ xz(a2 - x)J
B (a“ + xz)z(a2 - x)
@ —xa* +x°)
= (a“ + xz)
(wlg> 188

(xy +1F —(x + yf = x"y* + 2xy +1— x* = 2xy — y*
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2x? —11x+5 = (2x2 —10x)— X+5
= 2xX(x -5)—(x - 5)
=(x-5)2x-1)

6X? +5x — 4 = %(:-;esx2 +30x - 24)

_ %[(6x)2 +(5)6x) - 24]

. % [(6x)7 + (- 3+ 8)6x)— 24]

= %(6x—3)(6x+8)

= %x3(2x—1)><2(3x+4)

= (2x-1)3x + 4)
2x* —11x+5 (x-5)f2x-1) _ x-5
6x> +5x—4 (2x-1)3x+4) 3x+4

6x> +3x% —3x _ 3x(2x2 +x—1)

2x% +x-1 (2x2+x—1)
= 3X

a®+a‘+a’+1_(a°+a)+(a®+1)

a*+a’+a+l (a®+a’fa+l)
B a“(a2 +1)+(a2 +1)
~ a*(a+1)+(a+1)

_(@*+1)a* +1
~ (a+1)a?+1
_at+l
Ca+l

(lss 189

(s> 190

(ls3> 191



(az +b"')2 —a’h® (a2 +b? +abXa2 +b? —ab)
(a°-b*Ja®+b*) (a—b)a+b)a® +b*+abja® +b? —ab)

1
~(a—b)a+b)
1
“al-b?

5a‘ +5a’ —3a’h —3b _ (5a* +5a’)—3a’h — 3b

a‘+3’+2 a*+3a’ +2
_ 5a’(a? +1)-3b(a’ +1)
- @ +1)a” +2)
B (a2 +1X5a2 - 3b)
~ l@®+1)a’ +2)
_5a’-3b
T a’+2

2a' +7a> +6 (22" +3a’)+ (4a® + 6)
3‘+3°-6  3@a‘+a’-2)
_ a’(2a? +3)+2(2a +3)
3@ -1)a’ +2)
(2a% +3)a? + 2)
3a® -1fa* +2)

_2a%+3
3la? -1
a'+a’’+b* a'+a’b’+b’
a® —b° (a2 —bZXa4 +a’b? +b4)
1

a’-p?

Olusby g A0 54

(Wlg> 192

(lss 193

(les 194

(s> 195
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(ls3 196
a*-a’-12 _(a2—4Xa2+3)
a‘+8a>+15 (a®+3)a’+5)
_at-4
~a’+5
(53 197
6a’b? c. 14x'y  a’x’c
X%y 12a%h* b
(ls3 198
2c-2a a’+2ab+b® _-2(a-b) (a+b)
sa+4b a’-b?  4a+b) (a-bYa+b)
2
T4
1
)
(ls3 199

6x% + x—1:%(36x2 +6x—6)

1[ex (3-2)(6x)+ (3~ 2)]

= %(sx +3)6x-2)

= (2x+1)(3x 1)
6x* +x-1 ~ Ox*-16 _ (3x-1f2x+1) (3x-4)3x+4)_3x-4
Ox2 1 9x—4 4x% +4x+1 (3x—1)\3x+4) (2x+1¢  2x+1
(s3> 200

x*—9a® 2x-3a _4x’-9a’ y a’h-a*
ab-a®? " a’h-a’ ab-a’ 2x-3a
(2x—3a)2x+3a) a’(b-a)
= X
alb—a) (2x—3a)

=a’(2x+3a)
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(s 201
a’-8 2a"+4a+8 _ a’-8 ~ 2a+2
a?—a-2  2a+2 _a ~a-2 2a’+4a+8
(a—2)a? +2a+4) 2(a+1)
" (a-2fa+l)  2a’+2a+4)
=1
(lss 202
X —4 X -3x-4_(x=2fx+2) (x-4\x+1)
X —x-2 x*-2x-8 (x-2)x+1) (x+2)fx-4)
=1
(lss 203
a’h®+3ab 2a+1_ ablab+3)  (2a+1)
4a°-1 ab+3 (2a-1)2a+1) ab+3
ab
~2a-1
(lys 204
4x*-9a® 2x-3a _(2x-3a)2x+3a) a’(b-a)
ab—a’> "ah-a* = alb-a) 2x—3a)
_ (2x+3a)xa?
=
=a’(2x+3a)
(Vlg> 205
x+y x2y+y3 ><x2+xy+y2
X~y X iy gy X+ y

x+y)(x —xy+y) y(x2+y2) ><x2+xy+y2
T (x=y)x+y)X? +y) X+ X2y + v X+

(Ceyry )y Raxyry?
(x-y) X+ X2yt +y* X+ Y
K%—W+ﬁ&+w+y)
X —y XX + X2y +y)

ZNX—W+yXX+W+W)

0 - (y?)
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B y(xz—xy+ yZXx2+xy+ y2)
- x5—y5

(@lg3> 206
X¥-x-2 x-2 _x'-x-2 a'+ab
a’-b’> "a’+ab a’-b®>  x-2
B (x+l)(x—2)>< a(a+h)
“(a-b)a+h) (x-2)
a(x+1)

(a-b)

1 3x 1 Ix(x+1)+3x(x)-1

— 4+ — =

X x+1 x(x+1) x(x+1)
_x+1+43x° -1

X(x+1)

(lss 207

(Uls 208

23 -x* x2-2x+1 x-1 x*(2x-1) (x-1f x-1

— + = - +
—x -1 x*(x+1) x(x-1) (x-1)x+1)
(2x-1) (x-1) 1

- +
x(x+1)  x  x+1
(2x=1) = (x =1)x + 1) + x

X(x +1)
_ 2x—1—(x2 —1)+x
- X(x +1)
2x —1- x> +1+x
X(x +1)

3 -x’
~x(x+1)
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(&le3 209
X3 (1+x+x2) X3
= +
1-x 1 1-x
(=X)L X+ X2 )+ x

1+ X+ X% +

3

(ls3 210
30a 4 5 30a 4 5

9a’—1 3a-1 3a+l (Ba-1\3a+1) 3a-1 3a+l
_ 30a+4(3a+1)-53a-1)
- (3a—1)3a +1)
~30a+12a+4-15a+5
-~ (3a-1)3a+1)
27a+9
(3a-1)3a+1)
9(3a+1)
(3a-1)3a+1)
9
~3a-1

(wls3 211
X 15 12

X +5x+6 X +9x+14 xC +10x+ 21
X 15 12
_(x+2)(x+3)+(x+7)(x+2)_(x+3)(x+7)
X(X +7)+15(x + 3) - 12(x + 2)
(x +2)(x +3)x + 7)
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X> +7X +15X + 45 —12x — 24

(x+2)x+3)x+7)

X3 +10x+21

T (x+2)x+3) x+7)

 (x+3)x+7)

T (x+2)x+3) x+7)

1

T x+2

(s 212

a’+ac  a’-c’ L2 3
a’c-c® a’c+2ac’+c® c*-a’® a+c
_a’+ac  a*-¢® 2 3
- (2 c?) c(2+2ac+c2) (a2 -c?) a+c
_a’+ac a’ -c? 2c 3
cl’-¢?) clarcf fa'-c?) a+e
(@2 +ach+ ? (a2 -c?)a® -¢?)-2 c><ca+c) —3c(a-c)a+c)

C(a —-C Xa + C
B (a2 + achZ +2ac+ cz)— (a2 - (:2)2 —~ ZCZ(a2 +2ac + cz)— (3ca —SCZXa2 +2ac+ cz)
cla® - cha +c)
_ (a“ +2a’c+a’c® +a’c+2a’c’ + aca)— (a“ —2a’c’ +¢c )+ ( 2a’c® — 4ac® - 2c4)— (3a3c + 6a’c? + 3c’a —3a’c’® — 6ac’ — Sc")

c(a2 c Xa +cf

_a*+2a%+a’’ +a’c+2a’c’ +ac® —a' —2a’%’ —¢' - 2a°’ —4ac® - 2¢* - 3a’c - 6a’c’ — 3c’a + 3a’c” + 6ac® + 3¢’

cla? —c*fa+c)
0
“ofa? —cfarcf
(g3 213
X y X +y° Xy
+ 4 + _
X —y* xXP+y* oyt —x* (x+y)(x2 +y2)

X y X +y° Xy

X -y K4y (x2 -~ yZsz + y2) i (X + y)(x2 + y2)
Ay )y - y) - 60— v+ (x = vy
(Xz B YZXXZ + yz)

Xy -2y®

- <X2 B YZXXZ 4 yz)
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2x(x2—y2)
X2_y2XX2+y2
2y
- X2+y2
(lss 214
2 2 2 2
R o
4 2 2
_(a a>2<++X2x j(a2+x)
=a* —x*+2x?
=a’ +x?
(lss 215
(sl s
1+x 1-x* \x 1+x  (L-x)1+x) [ x
_(1x(1—x)+2x(1)j(1—x]
U @-x)1+x) X
_ l-x+2x (1-%)
L-x)1+x) x
_l+x 1
1+x X
1
T x
(Vs> 216
a_ a’+a-1 . a’-a-1  2a’° _
a®-1 a*-a’+a-1 a*+a*+a+l a*-1
a a®+a-1 a’-a-1 2a°

(a—l)(a+1)+az(a—1)+(a—1)+az(a+1)+(a+1)_(a2—1Xa2+1)
B a . a’+a-1 N a’-a-1 2a°
(a-1a+1) (@-1)+(@’+1) (@+1)+(@®+1) (a-1fa+1fa® +1)
=a(a2+1)+(a+1)(a2+a—1)+(a—1)(a2—a—1)—2a3

(a-1)a+1)fa® +1)
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_a3+al+(a3+a2—a+612+a—1)+(a3—az—a—a2+a+1)—2a3

(a-1)(a+1fa” +1)
_ a’+a+ (a3 +2a° —1)+ (a3 ~-2a° +1)— 2a’
(a-1)a+1fa” +1)

B a’+a B a(a2+1
(a-1fa+2)a’+1) (@®-1fa® +1)
_a
Ca’-1
(Vlg> 217

1 1 (b+c)+a
2 bsc L alb+c) (2bc+b® +c?—a’
1 1(+ 2bc j_(b+c)—a( 2bc j
a b+c a(b+c)

:b+c+a>{(b+c)2—a2j

b+c-a 2bc
:b+c+ax(b+c+a)(b+c—a)
b+c-a 2bc
_(a+b+cy
~ 2he
(wls> 218
bc ac ab
(a—c)(a—b)+(b—c)(b—a)+(c—a)(c—b)
_ ke s (-1)ac . (-1(-1)ab
(a-cla-b) (b-cla-b) (a-c)b-c)
bc ac ab

(@a—c)a-b) (b-c)a-b) (a—chb-c)

_be(b—c)-ac(a—c)+abla—b)

(a—bYa-c)b—c)
_b’*c—ch-a’c+ac’ +a’h-ab’
(a-b)a-c)o-c)
B (bzc —~ ab2)+ (azb - czb)+ (ac2 - azc)

- (a—bja—-c)b-c)




_b’(c-a)- b(c? —a®)+ ac(c —a)
(a—bYa—c)b—c)
_b*(c—a)-b(c-a)c+a)+ac(c-a)
(a-b)a-c)o-c)
_(e- a)[b2 —b(c+a)+ ac]
(a-b)a-c)o-c)
_(e- a)(b2 —bc—ba+ ac)
(a-b)a-c)b-c)
_ - 1)[(b2 - ba)+ (—bc + ac)]
(a-b)b-c)
(-2)fb(b - a) - c(b ~ a)]
(a-b)b-c)
_ (=1)(b-a)b-c)]
(a-b)b-c)
(a-b)b-c)

(a-b)b-c)
1

a+b b+c c+a

b-clc-a) (c—a)a-b) (a-b)b—c)
(a-b)a+b)+(b—-c)b+c)+(c—a)c+a)
(b-c)c—a)a—-b)
(a2 —b2)+(b2 —(:2)+(c2 —a2)
(b-c)c—a)a—-b)

0
(b-c)c-a)a-b)
0

a’ +ab+b? _az—atb+b2 2b° —b? +a’

a+b a-b a’ - b’
_a’+ab+b® a’-ab+b® 20°-b*+a’

a+tb  a-b +(a—b)(a+b)
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(Wles 219

(Vs> 220
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_(a-b)a® +ab+b?)-(a+b)a® —ab+b’)+ 20’ —b* +a”
(a—b)a+b)
(@®=b°)—(a° + b*)+ 20° —b? + @°
- (a—b)a+b)
a’-b’-a’-b*+2p°-b® +a’
(a—b)(a+b)
a’ -b’
(a-b)a+b)

(s 221
3a—6b_5a—6b_4a—5b+7a—8b
a+b a->b a+b a-b
_ (3a—6b)(a—b)-(a+b)5a—6b)-(a—b)4a—5b)+(a+b)7a—8b)

(a+b)a—-b)
3a® —3ab— 6ab + 6b” — (52 — 6ab + 5ab — 6b? ) — (4a® — 5ab — 4ab + 5b? )+ (7a® —8ab + 7ab —8b?)
- (a+b)a-b)
3a* —3ab-6ab+6b* —5a* + 6ab — 5ab + 6b* — 4a® + 5ab + 4ab — 5b” + 7a® — 8ab + 7ab — 8b®
B (a+b)a-b)
a’-b’
“(a+bfa-b)
_a‘-b’?
S a’-b?
=1
(ls3 222
(“—X—l_—xj(i+§—xj @+ X)L+ x)—(@—x)L—x) | 3+ x* —4x?
1-x 1+x\4x 4 (@-x)1+x) 4x
(L+2x+x?)—(1— 2x + x*)( - 3x* + 3
- (1-x)1+x) 4x
4 3i-x)
C(l-x)1+x)  4x
A 3(1—x2)

L-x) 4x
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=3
(Dly 223
a+b a-b 2b? (a-b)
- + x
2a—-20 2a+2b a’-b? 2b
a+b a-b 2b? (a—by
\2(a-b) 2(+b) (a-b)a+b) 2b
_[(@+b)a+b)—(a—b)a-b)+2b>x2 (a=by
I 2(a—-b)a+b) 2b
_(a®+2ab+b?)-(a® —2ab+b?)+ 40> (a—b)
2(a—b)a+b) 2b
4ab+4b*  (a-b)y
= X
2a-bfa+b) 2b
__4(a+b) (a-b)
2a-b)fa+b)  2b
=(a-b)
(s 224
x+1  x-1  4x x*+1 x+1 x-1 4x x* +1

2x-2 242 X-1 x-1 2x-1) 2x+1) (x-Dx+1) (x-1x+1)
(x+1)(x +1)— (x—1)(x = 1) — 2x 4x + 2 x (x* +1)
2(x —1)(x +1)
(x? + 2x +1)— (x* - 2x +1)—8x + 2x* + 2
2(x —1)x +1)
_Ax—8x+2x° +2
2(x -1)(x +1)
22X —4x+2
C2(x-1)fx+1)
_ 2 —2x+1)
C2(x-1)fx+1)
(x -1
(x —1(x +1)
o x-1

X +1
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(Vlg> 225
a _a 2a’ +4a2b2
a-b a+b a*+b*> a'-b’
:a_a+2a2+ 4a*h?
a-b a+b a’+b* (a-b)a+b)a+b?)
_a(a+b)a’+b?)-a(a—b)a? +b?)+ 2a%a(a—b)a+b)+ 4a%?
- (a—b)a+b)a®+b?)
_(a*+a%? +ba’+ab*)-(a* + a%? —ba® — ab®)+ (2a* — 2a%h? )+ 4a%’
- (a—b)a+b)a®+b?)
_ 2ba’ +2ab’ +2a* - 2a%’ + 4a’h?
(a-b)a+b)a®+b?)
_ (20a®+2ap*)+ (22 + 2a7?)
~ (a-b)a+b)a®+b?)
_ 2abla® +b?)+22%(a® +b?)
~ (a-b)a+b)a®+b?)
_ (a2+b?)2ab+2a?)
~(a-b)a+b)a®+b?)
_ 2alb+a)
~(a-b)a+b)
_ 2a
“a-b
(ls 226
1+x 1-X
1-x_ 1+x
ER
1
1-x 1+x
(@+x)* —(1-x)° 4x 4x
_ (1—x)1+x) C(@-x)1+x) _(1—x)(1+x)_ﬂ_1
C(Lex—Q-x)Y @ex)-1) (2x Y x ) 2xxX 4x
( 1-x j( 1+X j (1—xj(1+x) (1-x)1+x)
(@lg3> 227

x2y2 N (X2 _ azxyz _ az)_ (X2 _ bzxyz _ bz)
a’h’ a’la’ -b’) b2(b> — a°)
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Xzyz(az _ b2)+ bz(xz _ azxyz _ az)_ az(Xz _ bzxyz _ bz)
azbz(a2 - b2)

~ x2y%a? — x2y%h? + bz(xzyz —x%a? —aly? + a4)_ az(xzyz —x%? —b?y? + b4)
- a’b?(a’ —b?)
~ (azxzyz _ b2x2y2)+ (bzxzyz _ bzazxz)_ (bzazyz + b2a4)_ a’x?y? + a’x®? + a’b?y? — ab*
- a’b(a’ —b?)
_ bk’ -a®' _ a’h?(a® — b?)

a’b*(a® -b?) a’b*(a® - b?)
=1

(ly 228
(a-bYa-c) (b-ckb-a) (c—a)b-c)
(x+b)x+c)o—-c)-(x+c)x+a)a-c)+(x+a)x+b)a—-b)
(a-b)a-c)b-c)
(x2 +(b+c)x+bc(b—c)—(x2 +(a+c)x+ach—c))+(x2 +(a+b)x+abXa—b)

(a-b)a-c)b-c)

by + (b + ¢)x+ bc — o — cfb + c)x — be? — ax + a(a + c)x + a’c — o —c(a+ c)x— ac?)+ (X’ + a(a + b)x + a® — bx — b(a + b)x — ab’)
(a-b)a-c)b-c)
bx? + b’x + bex + b?c — cx® — chx — ¢?x —bc? — ax® — ax’® —acx —a’c + cx° + cax + ¢°X + ac’ + ax’ + a’x + abx + a’h — bx* — abx — b?x — ab’

(a-bfa-c)b-c)
_ b%c—bc* —a’c+ac® +a’h - ab?
(a-b)fa-c)b-c)
_ (b2c —bc?)+ (— a’ + a’h) + (ac? — ab?)
(a-bYa-c)b-c)
_beb—c)+a*(b—c)-alb-c)b+c)
(a-b)a-c)bo-c)
_(b —c)oc +a? —alb +c)]
(a-b)a-c)b-c)
_bc+a®—-ab-ac
(a-b)a-c)
_ (bc — ab) + (a® — ac)

~ (a-b)a-c)

_blc-a)+afa-c)

(a-b)Ya-c)

(x +b)x+c) (x+c)(x+a)+(x+a)(x+b)
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_-bla-c)+afa-c)

(a-b)a-c)

(a-c)a-b)

(
(a-b)a-c)
1

(Wls> 229
1+a 1+b l1+c

(a—b)(a—c)+(b—c)(b—a)+(c—a)(c—b)

1+a) (L+b) l+c

(@a-bfa—c) (b-cla-b) (a—clb—c)

_(+ajb-c)-@+b)fa-c)+(L+cfa-b)

(a-bYa-c)b-c)

_(b-c+ab-ac)-(a—c+ab-hc)

(a-b)a-c)b-c)

b-c+ab-ac—-a+c—-ab+bc+a-b+ac-bc

(a-b)a-c)b-c)
(a b)(a cXb-c)

(Lly 230

1 N 1 N 1
ala-bfa—c) bb-a)b-c) clc—a)c-b)

I S

aa-b)a-c) bla-b)o-c) cla-c)b-c)
_ be(b—c)-acfa—c)+ab(a—b)
abc(a—b)a -c)b-c)
b’c —bc? —a’c +ac® + a’b + a’b — ab’
abc(a—b)a—c)b —c)
(bzc —~ ab2)+ (— bc® + azb)+ (— a’c + acz)
abca—b)a—c)b—c)

_b*(c-a)- blc? — a?)+ ac(c — a)

abc(a—b)a -c)b-c)




Olusly g A0 68

_(e- a)[b2 —b(c+a)+ ac]
abc(a—b)a-c)b-c)
(- 1)(b2 —bc—ba+ ac)
abc(a—b)b-c)
_ - 1)[(b2 - ba)+ (ac - bc)]
abc(a—b)b—c)
_ (=1)b(b -a)-c(b - a)]
abc(a —b)b-c)
_ (=1)(b-a)b-c)
abc(a—b)b—-c)
_ (a-b)b-c)

abc(a —b)b—-c)

1
abc
(lss 231

x(xl)+x( ) (x)—l
(x +1)2 X2 X (x+1f - 1 x* —(x? 1)
_ X' —(x —1f . X' —(x —1f . X (x =1 -1
[(x +1—xXx +1+x)] [(x(x+ ) 1[x(x +1)+1] [x—(x2+1)][x+(x2+1)]
_ X (x-1y s X' —(x-1f . X (x -1 -1
(xz—x+11x2+l+x) (x2+x—11x2+x+1) (x—x2+1XX2+x+1)
_ X —(x-1y L X f—(x-1f x*(x-1) -1

x2—x+lxx +1+x) (0 +x-1f0® +x+1) (=1x—x* +1o + x+1
(2—x+1Xx +X— 1)+(x2—x+1Xx +X— 1)_(x2—x+1Xx2—x—1)
(xz—x+11x +1+x) (x2+x—11x2+x+1) (XZ—X+1XX2+X+1)
2
2

2

X"+ X— 1+x -Xx+1 x"—-x-1
X x4l KAx+l X x4l
=(x2+x—1)+(x2—x+1)—(x —x—l)

x> +x+1

X+ x+1
X +x+1
=1




69 L0 anjas 93l Gyl 3

i ol (G e |

(Vlg> 232

( a b 2ab j a ( b 2ab j

+ + + +
a+b a-b b°-a°/a-b (b-a a" -b

( a b 2ab } a ( -b 2ab )

= + + +

a+b a-b a*-b’Ja-b \a- b a’—b’

_[ala—b)+b(a+b)- 2ab} a J{ b(a+b +2ab}

i a’-b’ -b

_(a*-ab+ab+b*-2ab) a —ab - b* + 2ab

a’—b’ a’—b’

:_(a—b)2 a +—b2+ab

| a’ - b’ b a’-b’

__a-b . bla-b)

(a-b)a+b) (a—b)a+b)

a b

= +

a+b a+b

_a+b

a+b

=1

(lss 233

5wl
1 e

x—y)x+y)\x-y)
x—y)x+yXx—y)
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(Vlg> 234
a’-6a+5 a*-6a+8) 1
( 2—7a+10_a2—5a+4)7a2—3a+2
:_(a—l)(a—S)_(a—4)(a—2)}<(a—1)(a—2)
(a-2fa-5) (a-1)a-4) 1
- Z__;—Z—_i)(a Na-2)
J@a-1a-1)-(a-2)a-2) o —1)a_
g ) Jo-a-2
=[a-17 ~@a-2y]
= (a® —2a+1)fa® - 4a+4)
=2a-3
(lss 235

if X+y+z2=0=>x+y*+ 28 =3xyz

(a bz) (2 2) (c a) 0=

(2 =07 + (02 - +(c2-a’f =3(a>—b?Jp* - ¢ c> - a?)

(a—b)+(b—c)+(c—a)=0=>(a-bf’ +(b—cf +(c—a)f=3(a—b)b-c)c-a)

( 2 )3+(b2 cz)3 (c —a2)3 :3(a2—b2Xb2—c2Xc2—a2)
(a-b)+(b-cf+(c—a) 3a-b)b—-c)c-a)

_3(a—b)a+b)b—c)b+c)c-a)c+a)

3a-b)Xb-c)c-a)

=(a+b)b+c)c+a)

wsefas ) el
[ +aa+blb ala— bq {b+da+&1b—da—@}

a+b a+b a-b

b+a’+ab)a- ab+b2 (a+ab+b’®)b-a’+ab
a+b a+b a-b
B b+a +abXa ab+b) (a+ab+b2Xb—a2+ab)
- (a+b)a-h) (a+b)a-h)

(s> 236
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B (b+a2 +abXa—ab+b2)—(a+ab+b2Xb—a2 +ab)

(a+b)a-b)
B (ab—ab2 +b*-a*+a’h +a’m® +a’b-a’h? +ab3)—(ab—a3 +a’b+ab’ —a’+a’h’ +b® —b%a’ +ab3)
B (a+b)a-h)
_ab-ab®+b®-a’+a’h +a’b® +a’b-a’v’ +ab’—ab+a’-a’m-ab® +a’h-a’h® -b®+b*a® - ab’
B (a+b)a—b)

_ —2ab* +2a°
~(a+b)a-h)
2ala’ - b°)
TP

=2a

(led 237

(Ul 238
1—2x+x2+1_—X2= 1—x"‘+ﬂ
1+2X + X (L+x)

[0- %) @+ xp]e1-x
L+ x)

(1—x2)2+(1—x2X1+ x2)
(L +x)

(1—x2X1—x2+1+x2)
@+ x)

21— x)1+x)

T @+ x)1+x)

2L+ %)

{1+ xy
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_2(1-x)
©1+x
(Lls3 239
Xy XY - X X~y
A BT A e A Y
y X T x X _ Xy X X
x> X Xx—y x* ¥y XH+x+y x-y xX+y
—+—+1 — = 5 3
y y y X y X
2(,2 2 3(,3 3
Yy xy) (xry) X -y
xy(x2+y2+xy) x(x - y) xy(x3+y3)
_ yz(x3+y3)xx2(x3—y3)
W =y) e +y
=1
(@ls3> 240
5 _ 5
Xt +y?)-1 (1 1)’1
+7
Xy
5
= 1
Y+ X
%)
__9%
Xy
y+X
_5(x+y)
Xy
(ls 241
2 2 2
(1_X+4+x ](1_X2):{(1—x )+4+x }(1_)(2)
1+x 1+x
5
=~ ([1-x°
(1+x)< <)
51— x)1+x)
T (1+x)

= 5(1 - x)
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(lys 242
1 1 1
@—bXa—ch@—aXb—Qf%@—aXc—m
S = R 2
(a-bYa-c) (a-bYb-c) (a—c)b-c)
1 1 1
“a-bla-c) (@a-b)b-c) (a-c)b-c)
_(b-c)-(a-c)+(a-b)
~ (a-bfa-c)b-c)
_b-c-a+c+a-b
~ (a-bfa-c)b-c)
B 0
~(a-b)a-c)b-c)
=0
(@ls3> 243
(1_a—bj+(a+b_4):(a+b}{a—b)+a+b—{a—b)
a+b a-b a+b a-b
_a+b-a+b a+b-a+b
" a+b T a-b
2 2
“a+b a-b
_2b _a-b
“a+b 2o
_a-b
“a+hb
(lss 244
b ¢ c ) a b )
(_JFEJ(b +C —a)+[a+—j(c +a“—b )+ %+%j(a +b —c)
— 2 2 1



2o+ (2o (3 Jer)+ (3 )+

(e[ 2)e) )
Jee e (2] (2 o)+ (2 )+

Gl

+ +
N TN
o |

b2 2 CZ 2 CZ 2 2 b2 a2
=—+C-—+b+———+—+a-—+Cc+——-—+—
c b b a a c ¢ b
2 b2 CZ
+b-—+a+—-—
a a
=2a+2b+2c
=2(a+b+c)
(Vs 245
1 1 N 1 =bc+ac+ab
a’bc ab’c  abc? a’b?c?
(Dle2 246
3a 2 3a 2
a’-16 (a-4) (a—4)fa+4) (a-4)
_3a-2(a+4)
_ 3a-2-8
__ (a-8)
(lgz 247
a a 2a’ a a 2a’

+ + = + +
3+a 3-a 9-a® 3+a 3-a (3-a)f3+a)
_aB-a)+al3+a)+2a’
- (3-a)3+a)
_3a-a’+3a+a’+2a’
(3-a)3+a)
_ ba+2a’
- (3-a)3+a)
_ 2a(3+a)
- (3-a)3+a)




75 00 403 9300 gyesedl s

(s3> 248
3 12x _3x*-12 _3x(x—2)+12x-(3x* -12)
X+2 x*—-4 x*-4 x> —4
_3x% —6x+12x—3x% +12
- X* —4
_ bx+12
CxX2-4
6(x +2)
(x—2)x+2)
6

(x-2)

(ly 249
a+5 6  6fa+2) a+5 6  6fa’+2)
a-1 a’+a+l a’-1 a-1 a’+a+l (a-1f@’+a+1)
_(a+5)a® +a+1)-6(a-1)- 6l -12)
- (a-1fa* +a+1)
(a+5)a?+a+1)-6a—6-6a’ —12
- (@a-1f@* +a+1)
_(a+5)(a2+a+1)—6a+6a2—6
- (a-1f@*+a+1)
(a+5a?+a+1)-6a’ +a+1)
- (a-1f@® +a+1)
_(a2+a+1Xa+5—6)
- (@a-1f@®+a+1)

(Vs> 250
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(ls 251
1-x' (1+ 2X + x2X1—2x+ x2)+1— x*

1-2x+Xx° + -
1+2x+x° L+2x+x°)

B [xz +(L+ 2X)HX2 +(1- 2x)]+1— x*

- (1+2x+x2)

B (XZ)Z +[@+2x)+ @ —2x)]x* + 1+ 2x)+ (1 — 2x) + 1 - x*
- 1+ 2% + x°

CxPr2x? +(1—4x2)+1— x*

- 1+2x+ X

(ls> 252
x-2y 3y-a 3x-2a_ a(x - 2y)+ x(3y —a) - y(3x — 2a)
Xy ay ax axy
_ax—2ay + 3xy — ax — 3xy + 2ay
- axy

0

axy
=0

(Wlg> 253

45> —a%)s> —b?)
(SZ—aZXSZ _bz) y
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_ 2><2(s2 —aZXs2 —bz)
4

(232 —2a? XZS2 - 2b2)

4
_ [(a2 +b% + cz)— 2a2][(a2 +b? +cz)— 2b2]
4
:(b2+c2—a2Xa2—b2+c2)
4
_ e - (e -0?)]e? + (@* -2}
c*—(a%-b? )
oy
a' —(pb*-¢c°
(sz —bZst —cz)z 7
b —(c2 ~a’
(52 —CZXSZ —az)— 7

(52 -~ aZst -~ b2)+ (52 -~ bZst - c2)+ (s2 -~ CZXSZ -~ az)

_ c‘(a? - b2 La- (b? - ] b (-a’f
4 4 4

_ (a* +b* +c*)-(a® = b?)- [0* - c2)c* - a°f

4
B (a4 +b* + c“)— (a“ —2a’b* + b4)—( f - 2b%c? + c“)— (c“ —2c’a’ + a“)
4
Ca'+b*+ct —a' +2a%* -b' —b* + 2b%® ¢’ - c* +2¢%* - a°
- 4
_—a'-b' —c' +2a’h* + 2b%c® + 2¢%a’
- 4
- (a“ +b* +c¢* - 2a%’ - 2b%c? - Zczaz)
4

- —% [a2 + (— 2a’h® — 2a2c2)+ (b4 —2b*c? +c* )]

= —% [a“ + (— 2a’h* + 2a’c? - 4a2c2)+ (b2 - cz)z]
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= %[— a* +2a’p? — 2a’c® + 4a’c? - (b4 —2b%c* + 04)]

= % 4a%c?(— a* —b* — ¢* + 2% — 2a°c? + 2b°C?)|
- % 4a%c? — (a* +b* + ¢* — 2a%h? + 2ac” — 2b%C?)|
ey

- % [2ac - (a? - b2 + ¢?)[2ac + (a® - b* + ¢2)]

= %(Zac —a’+b” - ¢?J2ac+ a’ + b? + ¢?)

_ %[b2 + (a2 + 2ac—c? |- b2 + (a2 + 2ac + ¢2)|

_ _%[b2 —(a? — 2ac + ¢ )|[b? - (a2 + 2ac + c2)|

—— b -@-cf b - (a v cf]
:—%[(b—a+c)(b+a—c)][(b—a—c)(b+a+c)]
:_%(b—a+c)(b+a—c)(b—a—0)(b+a+c)
:%(b—a+c)(b+a—c)(a+c—b)(a+b+c)
~Zlb-a+c)-a+alb+a-c)-c+cfla+c-b)-brblarbc)
:%[(a+b+c)—2a][(a+b+c)—2c][(a+b+c)—2b](a+b+c)

_ %(25 — 2a)(2s - 2c)(2s — 2b)(2s)

= %42&(8 —a)s—c)s—b)s)

= 4s(s —a)s —b)s —c)
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(252 - 287|257 - 2b%) = (a® + ¢? b2 Jb? + c* - &%)

¢’ - (a2 —b?

(262 — 207267 - 2¢%) = a* — (b* - c*f

(262 - 2¢?2a” - 25%) =b* - (¢ —a’f

457 - a%)6? — 1)+ (52 - )* = )+ (52 - * s> - a°)
=a' +b’ +c4—(a2 —b2)2 —(bz—cz)z—(c2 —az)Z
=-a' -b" —c* +2a’h* + 2a°c? + 2b*c?
S T R i

= —[a“ - 2(b2 —c’h?+ (b2 - cz)2 _ 4a2c2]

:(Zac+a2 —b? +c2)><(2ac—a2 +b? —cz)
—(a+b+cla+c—b)x(a-b+c)a+hb-c)
=16S(S —a)S - b)S —c)

(wlss 254
if a+b-c=x=>a=x-b+c
if b+c-a=y=b=y+a-c
if c+ta-b=z=c=z-a+b

(a+b+cf—(a+b-cf-(b+c—-af —(c+a-b)
=[(x-b+c)+(y+a—c)+(z—a+b)]-x*—y* - 22
=(x+y+zf-x*—y*-7°
=3(x+yNy+2z)z+x)
=3(2b)2c)(2a)
= 24abc

x+y=(a+b-c)+(b+c-a)=2b=x+y=2b
y+z=(b+c—a)+(c+a-b)=2c=>y+z=2c
z+x=(c+a-b)+(a+b-c)=2a=z+x=2a
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(Vlg> 255
a+b+c=0=(a+b+c) =0
= a’+b®+c”+2ab+2ac+2bc=0
= a’ +b® + ¢® = —2ab - 2ac - 2bc
= a% + b? + ¢? = —2(ab + ac + bc)
1955 &2 gl §9I9'> 03193 gilgluno swly
2(ab+ac+be)f

? = 4(a%h? +a2c? +b’c? + 2a%he + 2ab’c + 2abc?)

0

(az +b%+ 02)2 =a* +b* +c* +2a%h? + 2a’c? + 2b*c?

(a2 +b2+c2f =a* +h* + c* + 2(a’h? + a’c +b’c?) (11)

(1) ()= 4(a%? +a% +b%c?)=(a* +b* +¢* )+ 2(a’h? + a’c? + bc?
= 8(a2b2 +a’c’ + bzcz): 2(a4 +b* + c4)+ 4(a2b2 +a’c’ +b*c?
= 2(a* +b* +¢*)=4(a%? + a%c? + b’c?)
= 2a* +b* +¢*)=(a® +b? +c*f

= (a2 +b? +c2f =2(a* +b* +¢*)

~— —

(s> 256

a+b+c=0=a’+b’®+c® =3abc
= (a3 +b® +C3Xa2 +b? +cz)= 3abc(a2 +b? +C2)
= (a5 +a’? +a’c? +b%a® +b® +b%? +c’a’ + c’b® + c5) = 3abc(a2 +b% + 02)
= a° +b° + ¢* + (a%? + a%h%)+ (b%c? + b%c?)+ (c®a® + c?a®) = 3abc{a® + b? +c?)
= a® +b® +c® +a’h?(a+b)+b’c?(b+c)+c’a’(c +a) = 3abcfa® + b* +c?)

a+b=-c
if a+b+c=0=<b+c=-a

a+c=-b
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= a® +b° +c® — a’b’c — b’c’a — a’c? = 3abcla’ + b? +¢?)
= a° +b° + ¢ —abo(ab +bc +ca) = 3abc(a2 +b% + cz)
= 2a° + 2b° + 2¢° — 2abc(ab + bc + ca) = 6abc{a® + b? + ¢
= 2(a® +b° + ¢*)— 2abd(ab + bc + ac) = 6abda? + b? + ¢*)
a+b+c=0=(a+b+cf=0

= a’ + b’ +c’ +2ab+2bc+2ac=0

= a’ +b? +¢® = -2(ab + ac + bc)

= abc(a2 +b* + cz) = —2abc(ab + ac + bc)

= Z(a5 +b° + c5)+ abc(a2 +b* + cz): 6abc(a2 +b% + cz)

= 2(a® +b° + ¢*) = 5abda® + b’ + ¢?)

(&lgs 257
" a+b+c=0:{2(a4+b4+c4)=(a2+b2+c2)2
a®+b° +c® =3abc

= 2(a* +b* +c*)a® +b° + ¢*) = 3abda’ + b* + ¢*f
= 2(a7 +a'b® +a’c® +b'a® +b’ +b'c® +c'a’ +c'o’ + c7)= 3abc(a2 +b* + cz)Z
= 2a” +b7 + ¢ +(a%? + a%* )+ (b*c® + b°c? )+ (c“a® + c*a* )| = 3abda® + b? + ¢*f
= 2:a7 +b" +c’ +a’h*(a+b)+b’c(b+c)+c’a’(c+ a)] = 3ab(:(a2 +b? + c2)2
= 2a” +b7 + ¢ +a°b*(- ¢)+b°c*(~ @) + c*a*(~ b)| = 3abda’ + b* + ¢*f
= 20’ +b” +¢" —ah’c —b’c’a - c®a’h) = 3abcla’ + b? + ¢ f
= 2:(a7 +b" + c7)— abc(azb2 +b%c? + czaz)]z 3abc(a2 +b* + 02)2
= 2(a” +b7 +¢7)- 2abca’® + b’c? + c*a?) = 3abda® + b? + ¢ f
=5x2 [a7 +b"+¢’ - abc(azb2 +b*c® + czaz)] =5x 3abc(a2 +b* + cz)2
= 10(a” +b" + ¢ )-10abda’? + bc? + c’a’ )= 15abcla® + b? + c*f (1)
= 2(&4 +b* + c4): (a2 +b? + c2)z
= Z(a“ +b* + c“): a* +b" +c* +2a’* + 2a’c? + 2b*c?
=a'+b'+c' = 2(a2b2 +a’+c+ bzcz)

= %abc(a4 +b* + c“) = abc(azb2 +a’c’+ bzcz)
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@): 1O(a7 +b' + 07) 10{ abc(a +b*+c )} = 15abc(a2 +b% + 02)2

1O(a7 +b + c7) 5ab c{ (a +b*+c )2} 15abc(a2 +b% + cz)2

10(8.7 +b’ +c7)=15abc(a +b?+c )Z += abc(a +b® +c )2

1Oa7+b7+c)=3?abc(a +b2+c) (2)

2(a® +b° +¢°)=5abc(a? + b + ¢?)
(2):  10(a7 +b7 +¢7)= % x[5abc(a® +b? + ¢ )|(a? + b2 + ¢?)

10(a” +b" +¢7)= % [2(a° +b° +¢°)](a2 + b2 + ¢)

10(a” +b7 +¢7)=7(a° +b° +¢*)(a® +b* + ¢)

a’b? +b%c? + a’c? :%(a2 +b? +cz):> 2(a7 +b’ +c7):gabc(a2 +b? +cz)

:4350[5
Z&gxsmj;g‘éo}wsjg)lsc\g&{‘)éﬁ}j&%"wébb
(ls3 258
1 A B
kk+D) Kk k+1 1)
1 Ak +1)+ Bk
= =
k(k +1) k(k +1)
1 (A+Bk+A A+B=0\(A=1
- = ’
k(k +1) k(k +1) A=1 B=-1
w1 1 1
“k(k+1) k k+1
(ls3 259
1 __A B 0
(k+4)k +6) k+4 k+6
1 _ Ak +6)+B(k +4)

T k+4)k+6)  (k+4)k+0)
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A=t
2

1 _(A+Bk+(6A+4B) |A+B=0 >

:>(k+4)(k+6)_ (k +4)k +6) "|6A+4B =1

B2
2

1 1

1 2 2
k+4fk+6) k+4 k+6

w, 1 :l(i_ ! j
,(k+4)(k+6) 2\k+4 k+6

1

(Vs> 260
1 1 A B
= = 1
X -4  (x=2)x+2) X=2 @ x+2 Y
1 A(x+2)+B(x-2)
- =
(x=2)x+2)  (x-2)x+2)

I
NP

N 1 _(A+B)x+2A-2B A+B=0 >

(x=2)x+2)  (x-2)x+2) "|2A-2B=1/|;_ 1

1 1

1 _ 4 4
(x=2)x+2) x-2 x+2

==

1 1( 1 1 j
=> e —
(x-2)x+2) 4\x-2 x+2
o, 1 _1( 1 1 j
"X2—4 4\ x-=2 x+2

1-x 1-x) A B 0

(@ls> 261
x2+4x+3:(x+1)(x+3):(x+1)+(x+3)
L-x) _ Alx+3)+B(x+1)
(x +1)x +3) (x +1)x +3)
L-x)  x(A+B)+3A+B .{A+B=—1> Al Bo

T x+1x+3) " (x+1x+3) 3A+B=1

L-x 1 (2

(x+1)(x+3) (x+1) (x+3)
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o . 1-x _ 1 2
"X 4+4x+3  (x+1) (x+3)

(Vlg> 262

(s 263

15 -4x-81 _ A B C 0
(x-3)x+4)x-1) x-3 x+4 x-1
15x* —4x-81  A(x+4)x-1)+B(x - 3)x 1)+ C(x - 3)x + 4)

T 3 x+4Nx-1) (x—3)x+4)x-1)
15x* —4x-81  (A+B+C)x*+(3A—4B + D)x + (- 4A+ 3B -12D)
- =
(x —3)x +4)x-1) (x —3)x +4)x -1

A+B+D=15 A=3
3A-4B+D=-4 B=5
~4A+3B-12D=-81/ D=7

o . 15x° —4x-81 3 5 7

"(x—3)x+4)x-1) X—1 x+4 x-1
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(Vly> 264

(—2f " (c-2f  (x-2f
X _Ak-2)+A

(x-2f  (x-2)

X _ Ax+(A-2A) {Alzl
(x—2) (x—2)° A -2A=0=A, =2
m, X 2

N
7

X A B, (1)

=

-2 (x-2) (x_2F

(Wle 265

x> —2x -3 Ax+ B C,
(x—l)(x2+2x+2):x2+2x+2+x—1 Y

x> —2x-3 _(x—lXAx+Bl)+Cl(x2+2x+2)
(x-1x* +2x+2) (x—1x* +2x +2)
. X' —2x-3 _ AX +Bx-f +Cx° +2xC, +2C,

(x—1x* +2x+2) (x —1x* +2x +2)
. xX*-2x-3 (A +C)x +(B,— A +2C)x+(-B, +2C,)
(x—1x* +2x+2) (x-1(x* +2x +2)

A+C =1

B,— A +2C, =-2 |A =

_B,+2C,=-3

=

ol

7
IB]_ g!C]_:_

9X 7 -4
X~ 2x-3 555 . 5

:(x—l)(x2+2x+2) (x2+2x+2)+(x—1)
n . X -2x-3 OX +7 4

"(x-1)x* +2x+2) Bx*+2x+2) 5(x-1)
(lss 266
1 AX+B C
K+ x-1)  x*+1 X1 o
1 (A +BYx—1)+C(x* +1)
X +1fx-1) (x* +1fx -2)
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1 A — AX+Bx-B+Cx* +C
- =
(x2 +1) (x-1) (x2 +1) (x-1)
1 x*(A+C)+x(-A+B)+(C-B)
j— =
(x2 +1)x-1) (x2 +1)x-2)
1 x*(A+C)+x(B-A)+(C-B)
- =
(x® +1fx-2) (x* +1fx-1)
A+C=0=>A=-C
B+C=0 1 1 1
A=Y {C—B—1%>:?B:_E A=
C-B=1 B
L1l
1 2" 2,2
(+x-1)  x*+1  x-1
) 1 X+1 1

’ (@ +1)x-1) —2(x? +1)+ 2(x-1)
(Ul 267
9x2—16x+4:9x2—16x+4:9x2—16x+4:é+i+ C
=32 +2x X2 -3x+2) x(x-1)x-2) x x-1 x-2
9x*-16x+4 A B C
> - =44 —
X(x-1)(x-2) x x-1 x-2

9x? -16x+4  A(x-1fx—2)+B(x)x —2)+C(x)x-1)

= =
X(x—1)(x—2) x(x —1)(x - 2)
. 9x* -16x+4 _(A+B+C)x*—(3A+2B+C)x+2A
X(x—1)(x—2) x(x=1)(x - 2)
A+B+C=9
~(3A+2B+C)=-16 JA=2,B=3,C =4
2A=4

9x?-16x+4 2 3 4
> ="y = 4 "
x(x-1)(x-=2) x x-1 x-2
@)\9X2—16X+4__z 3 N 4
"x2-3x24+2x X x-1 x-2
250 03 0k Al 4 7 e 0 42y W90 S (3 0 55 (S aly 4y (980 (s> 268
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1955 Joo IS (su5¥ &y 9l g50undi 7 50
()
2x3 +3x* -2 X2+ X—2

F2x° F 2x% + 4x 2x +1

X* +4x -2
FTXPFx+2
3X
3 2
2);213;(— 2 = (2x+1)+ X +3§ -2 0
3x 3X A B
x2+x—2_(x—1)(x+2)_x—1+x+2
_ 3X __A N B
(x-1)x+2) x-1 x+2
3x _ A(x+2)+B(x-1)
Th-Dx+2) T (x-1x+2)
- 3x _ (Ax+A2+Bx-B)
(x —1)x+2) (x —1)(x+2)
3% _(A+Bx+2A-B
(x —1)x+2) (x -1)x+2)
3x A+B)x+2A-B |A+B=3
:>(x—1)(x+2):( (x—)l)(x+2) ’{ZA—B:O>A:1’B:2
N 3X _ 1 N 2
(x-1)x+2) x-1 x+2
3X 1 2
= — = +
X“+Xx-2 Xx-1 x+2
) >2X3+3X2_2=(2X+1)i+ 2
X2+ X2 X—1 X+2

(ls3 269
X' +x3-x*-19x+16 | x> +x—6
FxXFX£6X° X +5
5x* —19x + 16
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F5x* F5x+30
—24X + 46
4 3_ 2_ _
X"+ X 2x 19X+16:(x2+5)+ 224x+26(1)
X+ X—6 X+ X—6
—24x+26  —24x+26 A B

X +x-6  (x+3)x-2) x+3 x-2
—24X+26 A B

= = +
(x+3)x-2) x+3 x-2
~24x+46  A(x—2)+B(x+3)

:> =
(x+3)(x-2)  (x+3)fx-2)
~24x+46 _ x(A+B)+(3B-2A)

- (x+3)x=2) (x+3)x-2)

~24x+46 _x(A+B)+(3B-2A) [A+B=-24\_ 2 A —118
"|3B-2A=46

T x+3)x-2)"  (x+3)fx-2)
-118 2

- —24x+46 5 L5
(x+3)x-2) x+3 x-2
_ -2x+46 18 2
(x+3)x—2)  5(x+3) 5(x-2)
0, X'+ x° x—19x+16: 2 5)_ 118 2
X*+X—6 b +5) 5(x+3)+5(x—2)

5 5

(s 270
X —3x+2=x - x—2x+2=x(x-1)-2(x-1)
= x(x —1)x +1) - 2(x - 1)
=(x - 1)(x2+x 2)
= (x -1)(x -1)x +2)
(x=1)"(x+2)

3* +3x+3 3% +3x+3 A A, B a)

X =3x+2  (x-1F(x+2) (x—1)1+(x—1)2+x+2

. 3" +3x+3 _ A . A B
(x-1f(x+2) (x-1f (x-1f x+2

. 3" +3x+3 _ A(X-1)(2+x)+ A(x+2)+B(x-1)
(x =1/ (x +2) (x =17 (x +2)
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3 +3x+3  AX*+Ax—2A + Ax+2A, +Bx’ - 2Bx+B

=1 (x+2) (x—1F(x +2)
. 3" +3x+3 _ (A +B)*+(A +A —2B)x-2A +2A, +B
(x —1¥(x +2) (x —1F(x + 2)
A+B=3

A+A -2B=3 JA=2,A,=3B=1
~2A +2A +B=3

:3x2+3x+3: 2 8 1
(x-1(x+2) (x-1) (x-1° (x+2)
0 3 4+3x+3 2 3 1
- x° —3X + 2 :(x—1)+(x—1)2+(x+2)
(wlss 271
2x A B
(x+1)2_(x+1)+(x+1)2 o
2x _ Alx+1)+B
(x+1f  (x+1)
L _ Ax+(A+B)
(x + 1Y (x + 1Y
__2x__Ax+(A+B) {A=2 >B:_2A:2
(x +1) (x+1f  '|A+B=0 ’
N 2X _ 2 2
T(x+1F (x+1)  (x+17
(lss 272
2x*+2x+1 A B C )

x*(x +1) _;+?+(x+l)
2x% +2x+1 _ AX(x +1)+ B(x + 1)+ Cx’

x*(x +1) x*(x +1)
2x" +2x+1 _ AX" + Ax+Bx+B+Cx’
x*(x +1) x*(x +1)

2x* +2x+1 _x*(A+C)+x(A+B)+B
x*(x +1) x*(x +1)
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2 +2x+1_ (A+C)ex(A+B)+B [N T o2
x2+ X + Ex( + )2+x( +B)+ JA+B-2)A-1C-1B-1
x*(x +1) x*(x +1)
B=1
1) 2x2 +2x+1 1 1 1
> > :—+—2+—
x*(x+1) x x* (x+1)
(ly 273
Xt =1= (¢ 1) +1) = (x =) x + 1)x® +1)
X -x*-x-3_ X -x"-x-3 _ A ., B  Cx+D
x* -1 (x—1)(x+1)(x2+1)L x=1 x+1 (x2+1)1
- X -x"-x-3 A L, B Cx+D )
(x—l)(x+1)(x2+1)1 x-1 x+1 (x2+1)l
L X -x=3 A+ +1)+ Bx -1 +1)+ (Cx+ DYx~1)x +1)
(x—l)(x+1)(x2+1)l (x—2)x + 1l +1)
- X =x*=x=-3 _ A+ AX+AC +A+BX +Bx-Bx* -B+Cx’-Cx+Dx*-D
(x—1fx+1)lx* +1) (x —1)x + 1f* +1)
- xX*-x*-x-3 _(A+B+C)X’+(A-B+D)X* +(A+B-C)x+(A-B-D)
(x-D)x+1)x* +1) (x—2)x +2)x* +1)
A+B+C=1
A-B+D=-1
A=-1 B=1d=1,C=1
A+B-C=-1
A-B-D=-3

n . X —x'—x-3 _ -1 N 1 N X+1
Tx=D)x+)(E+1)  x-1 x+1 (x241
(x=2)(x+1)(x* +1f
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